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fill in some particulars in the OMR Answer Sheet as per instructions mentioned on the OMR Answer Sheet.

At the end of the examination you should handover to the invigilator the original copy and office copy of the OMR Sheet.

You are permitted to take away with you the Question Booklet along with candidate’s copy of the OMR Sheet.
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1 Match List I with List IT and select the correct answer using the codes given below:

List 1
A Invitation to treat I
B Communication of Acceptance 1I
C Counter Proposal I
D  General Offer v

List 11

Hyde v. Wrench

Lalman Shukla v. Gauri Dutt
Felthouse v. Bindley
McPherson v. Appanne

el 1ol el I1 & gAfad Hiisig it i &g 77 %2 &1 yanT #3 98l I g

T 1

A g =EeR % fag I
s (3feesm T 4e)

B @i @ e 1

C <aE g&a I

D WMy 1\Y

w1
RESACEIG IR

AT T T A0 &
heesred W fied
HHHGT I ST

Choose the correct answer from the options given below:

T fiT U faeedl & O 98 X @ 9T i
(A) A-IL B-I, C-IV, D-III (B)
(C) A-IIL, B-IV, C-I,D-II (D)
(E) Question not attempted / STTANT T9T

A-L, B-IL,C-TII, D-IV
A-TV, B-II1, C-1, D-TI

2 Match List I with List IT and select the correct answer by using the codes given below:

List I
A Section 2(a) Indian Contract Act,1872
B Section 2(c) Indian Contract Act,1872
C = Section 2(e) Indian Contract Act,1872
D  Section 2(f) Indian Contract Act,1872

List 11
I Reciprocal Promises
Il Proposal
Il Promisee

IV Agreement

el 1ol el I1 & gAfad Hiisig it i &g 77 %2 &1 yanT #3 98l I g

el
A g 2(a) WIAR giaar stfafem, 1872
B ru 2(c) Wi dfaar sifafraw, 1872
C  9ru 2(e) Wi diemn srtafaw, 1872
D g 2(f) Wi dfaar sifafem, 1872

T 10
I  u@lie aed
I v@E
I areT @bk B AT
IV awsian

Choose the correct answer from the options given below:

T fiT U faeedl & O 98 X @ 9T BT ¢
(A) A-IIL B-II, C-IV, D-I (B)
(C) A-IV, B-IIL, C-I, D-II (D)
(E) Question not attempted / STTANT T

3MS_Master Set 2
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Match List I with List IT and select the correct answer using the codes given below:

List I List 11
A Supplies of Necessaries I Section 69 Indian Contract Act,1872
B Payments by interested person Il Section 68 Indian Contract Act,1872
C  Liabilities to pay for non I Section 71 Indian Contract Act,1872

gratuitous acts
D  Finder of Goods IV~ Section 70 Indian Contract Act,1872

g @ g 118 gafaq B ok 91 iy T g2 & gam & @8 39 g ¢

T 1 & 10
A FEE TR W ST I o1 69 AE gigan arfufram, 1872
B Rauiia =af@ s ymam O o 68 9 digar sttufrd, 1872
C oFufes Fai & g M g 71 yram w@iaar srfafem, 1872

PIAA B B ITAqE

D A 9SMN Al IV g 70 Ar&iE gigen sttafem, 1872

Choose the correct answer from the options given below:

T fiT U faeedl & O 98 IOX @ 9T BT

(A) A-IL, B-I, C-IV, D-III (B) A-1, B-II, C-1II, D-IV
(C) A-1V, B-II, C-LD-1II (D) A-II, B-1V, C-1, D-III
(E) Question not attempted / STTAN T9T

Match List I with List IT and select the correct answer by using the codes given below:

List 1 List 11

A Destruction of Subject Matter I Robinson v. Devison

B Non-Occurrence of I Satyabrata Ghose v. Mugneeram Bangur
Events Contemplated and Company

C  Incapacity of Party Il Taylor v. Caldwell

D  Temporary Intervention IV Krell v. Henry

Tl [ &t gl 11 & g sy ot e [T 10 g2 &1 ganT & @8 9 gig

T 1 & 10

A fawa agg @ famig I e T m sfaed

B femadm memst @ 7 e O o&sd 99 g9F IR SR U8 Hret

C  U&®R &l Sfema O X g9H ®iesad

D ol swed IV %d §M &

Choose the correct answer from the options given below:

T fiT U faeedl & O 98 X @ 9T BT ¢

(A) A-I, B-II, C-IV, D-III (B) A-II, B-I, C-IV, D-II
(C) A-1V, B-111, C-11, D-1 (D) A-IIL, B-1V, C-1, D-II
(E) Question not attempted / STTANT T

Master Set 3 P.T.O.
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Given below are two statements:

Statement I : Every agreement by which anyone is restrained from exercising a lawful
profession or restraint during terms of service or enter into trade combination is void.

Statement Il : A manufacturer may enter into an agreement to sell his entire product to a
particular person and not to sell to anyone else. Such agreement is also void.

In the light of the above statements, choose the correct answer from the options given below :
(A) Both Statement I and Statement II are true.

(B) Both Statement I and Statement II are false.

(C) Statement I is correct but Statement II is false.

(D) Statement I is incorrect but Statement II is true.

(E) Question not attempted

I 3 wuw feg M E

F 1 : TR® THET S ST e @ a9 Ust @ & UR Ui a1 gar @ 96l o A uiaee A
MR FAe ¥ T390 HT F U 910 8, T8 I 5

o 1 : U A SO g Soe @ el fasiw safe @ de % A e fRdl ol @ TR e &
Tt awEian Y gear §1 vEl SR f I B §

SUUE Ol & s § A QU T fawmedt § ¥ 9 SO B 99T B

(A) wuA 1 iR w11 391 9 ¥ (B) a1 o & 11 I o1 B
(C) %9 I 981 ¢ dAfeT %o 11 T9d B (D) % I Taq § @i waa 11 9 31
(E) orgaiaued

Given below are two statements:
Statement I : A agrees to sell ‘a hundred tons of oil’; such agreement will be void.

Statement II : A agrees to sell to B “my white horse for rupees 1000”; such agreement will be
void.

In the light of the above statements, choose the correct answer from the options given below :
(A) Both Statement I and Statement II are true.

(B) Both Statement I and Statement II are false.

(C) Statement I is correct but Statement II is false.

(D) Statement I is incorrect but Statement II is true.

(E) Question not attempted

I 3 wuw Ry Mo T

FEL: A D ad Ja & fau gewa ¥, vEn gwsian g @R

FF I : A, B & B0 9% =@ieT 1000 @ & d99 & foU 9eqd 37, TH1 SEEiar g e
U] BYFI b STEIh § A U MU fwedi § ¥ 98 39X @ 999 B

(A) wuA 1 iR w11 391 9 ¥ (B) ®uA 1 iR & 11 I 19 B
(C) %9 I 981 ¢ dAfeT %o 11 T9d 3| (D) %9 1 Taq § wied waa 11 9 §)
(E) orgaiaued
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In case of anticipatory breach of contract, if the aggrieved party does not accept the repudiation
and leaves the contract alive, then which of the following consequences ensue?
A The party repudiating may choose to perform and promisee will be bound to accept
the same.
B  The promisor cannot take advantage of supervening impossibility or frustration.
C  The damage for breach would be accessed at the time when the repudiation takes
place.
D  The damages for breach will be assessed at the time fixed for performance.
Choose the correct answer from the options given below:
(A) A, Band C (B) A, Band D
(C) Aand C (D) Aand D
(E) Question not attempted
SIS % YA Iede & 9 &, afy dfed ver il & @i T &3ar & o emgay & <l
T &, A1 feafaiad 9§ ¥ @F @ ahemm ame Sy ?
A ITER HE G GRT FaETE B g Gl ¢ i aanell SHT Bl WIeR BT & T a1
Rl
B Il STdE sEHadar (Guiiai srfafafe)) an sanem @ @ TR 3o g 51
C SwE & JHAM & T0HT 39 GAd & SO 99 @A f6ar S|
D JoueH & g faifia @9a oY S&ed & THAM & STdad [6al S|
T fiT U faeedl & O 98 IX @ A9 i -

(A) A, BaRC (B) A, Ba&RD
(C) AsirC (D) AR D
(E) orgaiaued

If the promisee does not accept the anticipatory repudiation of the contract, by the promisor,
what would be legal obligations on promise?
Promisee damages would be assessed at the time when repudiation takes place.
Promisee damages will be assessed at the time fixed for performance of contract.
Promisee have to take risk of market rate falling.
Promisee would be under no obligation to take all reasonable steps to keep his loss
to the minimum.
Choose the correct answer from the options given below:
(A) Aand C B) A Cand D
(C) Band C (D) B,Cand D
(E) Question not attempted
gfe TaaIfedr, Joadl ERT STEY & YT @S & @er Tof Al &, a Ia7 ¥ AT aregan
o B Y

A TR % JHEAE B e 3§ G99 [RA1 ST S HiET B @ed ')

B auvue % fau fyuifia a9 X aeeudan @ afq &1 stebas fhar S|

C oOeM & 9K &X R &1 siifgd IoM 9 5|

D  IEUREl SUN JHEM B HH ¥ B @ & [T Gl Sfad #ad Som & fiw e @ )
T fiT U faeedl & O 98 X @ 9T BT ¢

oo w

(A) AsRC (B) A, C 3D
(C) BaxC (D) B, C R D
(E) orgaiaued

Master Set 5 P.T.O.
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9 Consider the following legal propositions relating to communication of acceptance through postal
means under Indian Contract Act, 1872.
A The contract is concluded at the place where proposal is accepted and communication
of acceptance is dispatched.
B The acceptor becomes bound when properly addressed and adequately stamped letter
of acceptance is posted.
C  The offeror becomes bound when properly addressed and adequately stamped letter
of acceptance is posted.
D  The acceptor becomes bound only when his acceptance comes to the knowledge of
the proposer.
Choose the correct answer from the options given below:
(A) A and B Only (B) B and C Only
(C) A, B and C Only (D) A, C and D Only
(E) Question not attempted
I dfqar stfafad, 1872 & d8d o6 "1ead 8 Wigia & awu § gefua frafafaa s st

9T famt &Y
A Hﬁm%wwﬁww%%aﬁwﬁwﬁﬁmw%wmwaﬁwﬁw
ST 2
B JOUEKT Q9 ST B 1 § 99 Srad §9 9§ "aitq R wen ofk v ®9 § gaEifha @it
uS Ui fear S §)
C  IOaIal I9 9169 & Sl & 99 3fod &9 9 daita e w=n ofk vafa ®9 § g8 @l @ipta
uS diee fear S §)

TEATTEAT Hhad qHI T BT & 59 ITh! Wipa Fa-ardl & T § 1 Sl 2|
%%qw%w@rﬁ@ra@rwwwaﬁﬁm

(A) %aw AU B (B) ¥a@ B o C
(C) ®aw@ A, B &R C (D) waw@ A, C &R D
(E) orgaiaued

10 If the debtor owes several distinct debts to the same creditor and makes payments without any
appropriation, then the creditor may use the payments to discharge which of the following debts?
A At his discretion to wipe out any debt which is due.
B To make payments for time barred debt.
C  To make payments for interest and costs and then to principal.
D  To make payments for debt as determined by the Court under Section 61 of Contract
Act by application of law.
Choose the correct answer from the options given below:
(A) A, B, C and D Only (B) A, Band C Only
(C) B, C and D Only (D) B and D Only
(E) Question not attempted
gfe IR TH A AQR &F A0 b5 STavT—ote %o &1 %o & ofix fomm forely fafvimr & ram & %,
aﬁﬁwwmﬁwswﬂﬁﬂ%ﬁiﬁﬁ%ﬁwwaﬁwm%smmw%?
o faae o Tl i s&rn %o & 99 e & fWu)
B FHAMYA FOT B IAM H & (AT
C = iR @ra % e & fau ok 6t 9@ @n & fa)
D &A% JIHAr S Efaar sfafe @ | 61 % dEd e 3 | e & W

YA B & Y
T fiT U faeedl & O 98 IAX B 9T BT ¢
(A) %aw A, B, C &R D (B) %@ A, B &ix C
(C) ®aw B, C aik D (D) ®aw@ B &R D

(E) orgaiaued

3MS_Master Set 6 P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Master Set

11 Law is a social science that grows and develops with the growth and development of society.
Technically, the Civil Administration of Justice in India began with the Britishers' legislative
efforts around the 18th Century with a number of reforms in the Code of Civil Procedure 1859
afterward. According to the 27! Law Commission Report, a special Committee presided over by
Sir Earle Richard including Dr. Rashbherav Ghosh examined the Draft Bill of CPC who carefully
rearranged all the provisions of the draft Code of Civil Procedure 1908 into two parts which
include.

A The Body of the Code and the Schedule
B The Schedule first and body of the code later
C  Sections and Orders
D  Orders and Rules
E Section, orders and rules
Choose the correct answer from the options given above:
(A) Only B (B) Only A
(C) A, Band C (C) C DandE
(E) Question not attempted
BT T | &S & o 9911 1 ghg oK b & @ sear oY famiaa siar 31 el &9 9,
A H I &1 A0 e 184 sTarssl & U Sl & fqaml yamEl & | g% gol oK 9.
H 1859 @ AFTH(e Wichan wiear & %3 gar fobw w1 274 fafy smam & fard & orgEr =, a9
afeq wX o Ee @l sremern § U@ fa9w afifa 3 didel & wEe fdhe s s @1, SEe 1908 %
A wifshan HfeaT % UrEw diear & @ AIaHE St S @ 9 9§ qedaRed fear e ot -
A dgfe e B G&I A B
C oW &R omey D 91 &R frem
E 4@, ok o Fraw
TR fau U fqeed § ¥ 98 S B 99 i

(A) %aw B (B) waw A
(C) A BaRC (C) C,D&RE
(E) orgaiaued

12 Which one of the following options is true with reference to ‘Mesne Profit’ of property as given
under Section 2 (12) of Code of Civil Procedure 1908 ? It says ‘Mesne Profit’ means a profit-

A which a person in wrongful possession of such property actually received.
B might with ordinary diligence, have received there from.
C  together with interest on such Profit.
D  but shall include profits due to improvements made by the person in wrongful possession.
E  'but shall not include profits due to improvements made by the person in wrongful
possession.
Choose the correct answer from the options given above:
(A) Option D (B) Options A,B and C
(C) Options A,B,C and E (D) Options AB,C and D

(E) Question not attempted
frrfafaa & ¥ & @1 us fawed < fafaa wfwar d@fear 1908 @ ara 2(12) % dd Gufd & A& Uifthe’
% HUH W U 57 3EH el T § WE Wik H AW @IH —
A <iifer TH 9ufa @ oY ®sT B O AR N arad °§ urd fRa
B Humer uRgMm 9 98 § U fRan & "@adn g
C U9 @9 9 < gl
D <feT o9y @ # =l &1 6y @ guRi % HROT g0 @19 eni s
E <f6T o9y &esl A sl g e 10 gari & &er g9 @ S T 8|
T w0 fqeedi ¥ @ 98 SO @1 99T BN ¢

(A) fawea D (B) fm&w AB &R C
(C) fawea AB.,C, siX E (D) fawea AB,C &k D
(E) orgaiaued

3MS_Master Set 7 P.T.O.
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“Decree is always appealable and order can hardly be appealable. However, there are few orders
in which first appeal is allowed but no second appeal can be allowed.” The above statements
are with reference to section -

A Section 2 (¢) of Code of Civil Procedure 1908

B Section 2 (e) of Code of Civil Procedure 1908

C  Section 99 of Code of Civil Procedure 1908

D  Sections 100 & 104 (1) & (2) of Code of Civil Procedure 1908

E  Section 103 (1) & (2) of Code of Civil Procedure 1908
Choose the correct answer from the options given above:
(A) Options A and B (B) Options C and D
(C) Option D only (D) Option E only
(E) Question not attempted
“feonl THIM oI AT B & ST oTIaeT 9as 2 ST M & Wohall & | Blifh, PO oTasl U & fore
T STU DI ST & AR FEU U @I STTATT el & S ¥eball & SUTa HU fhq 9rq & daH

qE?
A Tafaw wfear d@féar 1908 &t ara 2(c)
B  fafaw wiear @fear 1908 @1 4ma 2(e)
C fafaw wlsean dfear 1908 @ ama 99
D fafam ufsranr d@fear 1908 & arod 100 sfiv 104(1) &R (2)

fafam wfspar @fear 1908 & arw 103(1) 8T (2)
w%qnq%m@rﬁ@ra@rwwwaﬁﬁm

(A) faoed A oI B (B) fq@wa C &R D
(C) waw fawea D (D) waw faeea E
(E) orgaiaued

The various modes in which execution of a decree may be ordered are given in Section 51 of
the Code of Civil Procedure. Point out one of the following modes which is not given under
Section 51 of Code as a mode of execution of a decree?

By delivery of any property specifically decreed.

By attachment and sale, or by sale, without attachment of any property.

By arrest and detention of the judgment- debtor

By appointment of a Receiver; or

Arrest and detention of the party who is neither party to the suit nor have any
connection to the matter in issue

Choose the correct answer from the options given above:

(A) Options A and B (B) Options C and D

(C) Option D only (D) Option E only

(E) Question not attempted

fafae wfsrar d@fear & ara 51 & fob & Froaes @1 Ry 3 g fafm e Ry
Y TRl @ fafy &1 Swi@ FIRTY st diear @ a1 51 % 9 fEwl & FeaeT &

T g7

fagdw = @ femt @ ¢ fe o wufa & faaor zm
Fat ot fasht ara, an famn feeh dufa @& gt & Rwl &
o= & frwar @ iy g
us fEEr @ Fgfe e, @
wqa%ﬁﬁﬂwrﬁaﬁﬁﬁa,Gﬁﬂagmﬁwqw%ﬁﬂag%aﬁam@raﬁéﬂw
KECRIRS
TR i U fawedt # 9 W8 SO & 99T &Y
(A) fawea A iR B (B) faws C stk D
(C) wad fawea D (D) ¥aw fy@ea E
(E) orgaiaued

mo QW

U ¥\ frefafaa o
qfq & &1 F & @

moaws

3MS_Master Set 8 P.T.O.
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Which are the essential components for institution of a civil suit?

A Cause of action

B Opposite Party

C  Existence of Subject Matter

D  Relief claimed must be in the form of civil remedy

E  The Court must have jurisdiction to adjudicate upon the same
Choose the correct answer from the options given above:
(A) Options A, B and C (B) Options B, C and D
(C) Options C, D and E (D) All options A to E

(E) Question not attempted
fafue g & den & fou smagas ges B g ¥

A AEEgE

B ufqua it

C faw ag &1 s

D @ & T TR fafad Swar % w1 A S anfen

E <ed & 9 s6 R ol & &1 stfaen & 1 @nfee
T w0 fqeedi ¥ @ 98 SO @1 99T BN ¢
(A) fawea A, B iR C (B) faw® B, C siR D
(C) fawea C, D &R E (D) @+l fabem A9 E
(E) orgaiaued

Consider the following propositions of law relating to application and effect of Doctrine of Res
sub judice under Section 10 of CPC with respect to following matters :
A The matter in issue in the subsequent suit must be directly and substantially in issue
in the previous suit.
B The previously instituted pending suit in foreign court shall debar the Indian court
trying a subsequently instituted suit.
C A decree passed in contravention of Doctrine of Res sub judice shall be nullity and
may be disregarded in execution proceedings.
D  The Court in which previous suit is instituted must have jurisdiction to grant the
relief claimed in the subsequent suits.
Choose the correct answer from the options given below:
(A) Aand C (B) A Cand D
(C) Band D (D) Aand D
(E) Question not attempted
frafafaa 9@l & 999 o 9 @& 9ra 10 % deq a9 v Sgiee) e & ouanT ofik
UHE | gatya s % Frefalad g o Rew 6
A & % gFH ¥ fqar & amen e geed # ude Td gad ®9 H qE e Ay |
B faRsll oe@a ¥ usd 9 wfeq gwHeH1, IRAE AEad W el g B aiid S|
C W99 gRE & e & e § uilika & bl omma el ofx foures &1 srfamer o
THH! AT DI S bl 5|
D {4 =mawe # fedr gee T fFa w0 5, 366 ue 918 & gHEH! | aEr @ T qed
I B AUHR & BT Y
T feu fosedi & ¥ € SO @1 IO BN ¢

(A) AsRC (B) A, C 3D
(C) B D (D) AaRD
(E) orgaiaued
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Statement I: A rejection of application for leave to sue in forma pauperis is not considered as
decree, as there is no plaint till the application is granted.

Statement II: The proceedings under Indian Succession Act and the Hindu Marriage Act are
considered as statutory suits and decision given there under are decrees.

In the light of the above statements, choose the correct answer from the options given below :

(A) Both Statement I and Statement II are true.
(B) Both Statement I and Statement II are false.

(C) Statement I is correct but Statement II is false.

(D) Statement I is incorrect but Statement II is true.

(E) Question not attempted
I a1 wua faw MR

o | 2 Bl GURE | GHaT HT B ST & [ STAET %l STEIG T Bl [Shl el AT Sl &, FTh
3MAEA WIhd B a% B a8 el Bl §
o 11 : AT SaaiaeR sfated, od g faare sfafae & Jea srRare! & a9 g2 A S
% ofR Sa% Tea fag v o feamt ¥

ST HUAl & e | A fGg T fawdl ¥ ¥ 9 IO & 99 Sy ¢
(A) w1 8fiX @ee 11 39 |9 &1
(C) %o 1 9&1 ¥ wfepd e 11 Taq 51

(E) orgaiaued
18 Match List I with List 11
List 1
A Order 20 Rule 12 CPC, 1908
B Order 20 Rule 14 CPC, 1908
C  Order 20 Rule 15 CPC, 1908
D  Order 20 Rule 18 CPC, 1908
T [ &t g 1 8 gafaa @i
T 1
A emRer 20 Frm 12 9ndRd, 1908
B o9t 20 fraw 14 d@ndiE, 1908
C  ameyr 20 fram 15 didiEh, 1908
D o9 20 g 18 drdiE, 1908

(B) o I oY &y 11 I o1 )
(D) ®¥ 1 Ta & WiehT waa 11 9 351

I
I
I
v

=B8R "

List 11

Suits for partition and separate possession
Suits for pre-emption

Suits for dissolution of partnership

Suits for possession and mense profits

w11

fqae o ot &l & fo @
SHATTIER & T amg

e % faaes % faw o
Heel 3T A% @w % foT A

Choose the correct answer from the options given below:
T fiT U faeedl & O 98 X @ 9T BT ¢
(A) A-II, B-TV, C-III, D-I
(C) A-1I, B-I, C-1V, D-III
(E) Question not attempted / STTANT T

3MS_Master Set

(B) A-IV, B-II, C-II, D-I
(D) A-IIL, B-1V, C-II, D-I
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Match List I with List 11
List 1 List 11

A Dhulabhai v. State of M.P. (1969) 1 Constructive res judicata
B  Daryao v. State of U.P. (1961) I Exclusion of jurisdiction of Civil Court
C  Devilal Modi v. STD (1965) I  Forum Shopping
D  Morgan Stanley Mutual Fund v. IV Res judicata
Kartik Das (1994)
T [ &t g 1 8 gafaa @i
T 1 & 10
A gEHE W AY. T (1969) [ s @ Sgfeshe
B TwEmsh s9W g4 s (1961) 0 fafaw =maee & st &1 suasH
C I HE 99 TEERT (1965) M A S
D ¥F WAdl g B T IV & geha

Fifies @ (1994)
Choose the correct answer from the options given below:
T fiT U faeedl & O 98 X @ 9T i
(A) A-II, B-1V, C-1, D-III (B) A-1I, B-I, C-1II, D-IV
(C) A-1V, B-IL, C-I, D-II (D) A-IIL, B-IL, C-1V, D-I
(E) Question not attempted / ST T

Match List 1T with List 11 :
List 1 List 11

A Section 2(10) CPC, 1908 I Share in Corporation

B Section 2(3) CPC, 1908 I Mesne Profits

C  Section 2(12) CPC, 1908 Il  Decree- Holders

D Section 2(19) CPC, 1908 IV Judgment - Debtor
T [ &t g 1 8 gafaa @i

T 1 T 10

A ar 2(10) didE, 1908 [ 9% 37 BN

B gm 2(3) 9ndid, 1908 0 99 vifked

C g 2(12) dided, 1908 M fewr — siced

D ara 2(19) €@, 1908 v Fofta =l

Choose the correct answer from the options given below:

T fiT U faeedl & O 98 X @ 9T BT ¢

(A) A-IL B-1, C-1II, D-IV (B) A-IIL B-IL, C-1V, D-I
(C) A-1V, B-111, C-11, D-1 (D) A-IIL, B-1V, C-II, D-I
(E) Question not attempted / STTANT T

3MS_Master Set 11 P.T.O.
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With respect to the doctrine of Res-judicata, choose the correct statement from the given options:
A The doctrine of res judicata is based on maxim interest republicaeut sit finislitium.

B Principle of res judicata applies to civil suits, execution proceedings, arbitration,
interim order etc.

C  The doctrine of res judicata codified under Section 11 of the Code of Civil Procedure
1908 is exhaustive.

D  The doctrine of res judicata applies to the writ petition.
Choose the correct answer from the options given below:
(A) A, B and C (B) B,Cand D
(C) C,Dand A (D) A Band D
(E) Question not attempted
yd-ora (W gfewe) & Raeld & g9y ¥ iy o faeedl § 9 981 S99 &1 99T i ¢
A @ P @ feai A fo R e Refmfifed © onafa B
B W gitkha @ fasia R gz, foues srdare, qeawedn, sfaike e anfe ¥ @n
B §
C e wfsean @iear 1908 & 4w 11 % qa diedes (@ gieher & fagia @yl ¥)
D @ wufea & fgia e A O an e ¥
T faw o faeedl ® 9 98 SO BN AT BN

(A) A, BaRC (B) B, Cs3RD
(C) C,DsitA (D) A Ba&RD
(E) orgaiaued

A Set-off is a statutory defense to a plaintiff’s action, where as a counter-claim is a
cross-action.

B Set-off and Counter-claim arise out of the same transaction.

C Set-off amount must be recoverable at the date of the suit, but Counter-claim amount
must be recoverable at the date of the written statement.

D Both Set-off and Counter-claim cannot exceed the pecuniary jurisdiction of the Court.
Which of the following is incorrect in the above options?
(A) A and B Only (B) B Only
(C) C and D Only (D) B and C Only
(E) Question not attempted
A A% TH A6l B HAR & G TF U6 I919 ¢, SEih Uh T Th BT g
B #e-a% o Ui T & W7 ¥ 3O B ¢
C T TRT JHa¥ & ARG I TGl A A1 a1y, Wie gia—aran i fafaa sam &
arrE T e G B A
D ¥e-8ih o ufa—aran Il & =arnea & onférs a=nfas o offies T8l 8 "ahd |
STE faswedl ¥ H BN A Tq § 7

(A) Haw A st B (B) ¥%aw B

(C) =@ C 8t D (D) ¥a@ B & C

(E) orgaiaued
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In which of the following cases, the Supreme Court held that a defect of jurisdiction whether it
is pecuniary or territorial or whether it is in respect of the subject matter of the action, strikes
at the very authority of the Court to pass any decree and such a defect cannot be cured even by
the consent of the parties.

A Lucy Kochuvareed v. Marriappa Gounder

B  Kiran Singh and Others v. Chaman Paswan and Others

C  Major Khanna v. Brigadier Dillon

D  Shah Babulal v. J.D. Kania
Choose the correct answer from the options given below:
(A) Aand B (B) Band C
(C) Cand D (D) B only
(E) Question not attempted
freafaRead § ¥ forg Am@ ¥, daied AE@d J 961 {6 SAHER &9 & AW 91 a8 e a1 & w
T A T8 HATG DI O9g a8 & G99 7 &1, fHdl A ool & wiid & % ey & SfHER 9 Ten
H & o 39 TE & AW B WAl & GeAd § WY dw TE fhar S wwar

A g Fgals T qRer et

B Yl R ol o0 S M o9 qEaN SR 8T

C % @1 s famfear feam

D oTE SO ST .3 B
T feu U faeedl § ¥ 98 IO # 9Ed B

(A) A3B (B) Bsaix C
(C) CakD (D) %aw B
(E) organa e
Match List I with List 1T :
List I List 1I
A Order VIII CPC | Execution
B Order XXI CPC I~ Suit by or against corporation
C  Order XXIX CPC I Suit by Indigent person
D  Order XXXIII IV~ Written Statement
Tl 1 &t e 1 8 gafaa &g
T 1 @ 1
A smest VI g I foea
B smy XXI € 0 &URE & a1 3696 faars aQ
C  omeer XXIX dndi m e =t gra ar
D amey XXXIII v fafaa sam

Choose the correct answer from the options given below:

T feu U fueedl § ¥ 98 IO @ 999 B

(A) A-1, B-II, C-1II, D-IV (B) A-1V, B-1, C-IL, D-III
(C) A-1I, B-I, C-1V, D-III (D) A-IV, B-IL, C-I, D-I
(E) Question not attempted / STTANT T

3MS_Master Set 13 P.T.O.
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25  Given below are two statements:
Where upon an application of the accused for plea-bargaining, a satisfactory disposition of the
case has been worked out in accordance with law, the Court
Statement I: Where upon an application of the accused for plea-bargaining, a satisfactory
disposition of the case has been worked out in accordance with law, the Court must award
compensation whether or not agreed upon by the parties
Statement II: Where upon an application of the accused for plea-bargaining, a satisfactory
disposition of the case has been worked out in accordance with law, the Court cannot award any
punishment since that would be against the spirit of amicable settlement and harmony.
In the light of the above statements, choose the Correct answer from the options given below
(A) Both Statement I and Statement II are true
(B) Both Statement I and Statement II are false
(C) Statement I is correct but Statement II is false
(D) Statement I is incorrect but Statement II is true
(E) Question not attempted
I q wed few o R
gﬁwﬁa@ﬁﬂﬁmmﬁwﬁwmﬁﬁ%w%ﬁwmﬁwﬁ?ﬁwﬁmﬁww

, ™Y

o I: 518} < ST % U qige & T& SIeET UX, BT & STIER A & Th s Ml
fopam T %, AT vEeTU &1 WEHd B AT TE AR Bl YIS o dieu |
o I STef & ST & Ty sirgal & U $IeeT U, T & STIHR 9 &l Th SaISerd ISRl
foram T ¥, AT BIE Gl el < Thal & Hih I8 WBIAYY TSI ST HATd Sl WIEAT % Raed shm|
YT HUA & Sl § A U U foeedl & @ 98 ST @1 9ue g

(A) U I o %o 11 a9 o & (B) wud 1 iR wo 11 31 o1e &
(C) %o 1 &el & e waa 11 Teq & (D) %o 1 Tq & @i w1 9
(E) orgaiaued
26 A Section 93 and 94 “expressly and impliedly” confers the power to seize and take

possession of the document and thing.
A search warrant u/s 93 can be issued to any person including a police officer,
whereas u/s 94 it can be issued only to-a police officer.
For a search warrant u/s 93 and 94, criminal proceeding at any stage is a prerequisite.
Section 94 empowers District Magistrate and Sub-divisional Magistrate to authorize
any person to conduct search
E  Under Section 93(3) only the District Magistrate or the Chief Judicial Magistrate can
grant a warrant for search.
Choose the correct answer from the options given below:
(A) Aand B (B) Band E
(C) Cand D (D) All are correct
(E) Question not attempted
A 9 93§ 94 ‘W ®Y X Mied ¥ §7 AT S WA Bl ST BT AR Fe A A
@ qfR qEH B B
B 410 93 % Ted U& Yfad Sifuwrl ik feell Y sl @f aemsht arte s fan s daan
T, e G0 94 % qed IT dhad UH il SATUE B S A S Hedn g
C gm0 93 o 94 & T&q qenell ae & fog, fFel ff W TR ouuiie HRiams! Te qaiue &1
D g 94 foen afeee ok Su-—fauria afee @ fedl off safe & qansh a9 & g srfaga
HET B SATIB AT 2
g1 93(3) & qed haa foren Al A1 g =R afiee & qare & fau arte ¥ "aa ¥)
Gl ?crq MY fowedl § W e I W@ T DI

oo w

(A) A3B (B) B3R E
(C) CairD (D) ¥ W ¥
(B) erafa ued
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Statement I: Statutory limitations on the revisional power of the High Court are provided in

Section 397(3) and Section 402(1).

Statement II: Statutory limitations on the revisional power of the High Court are provided in

Section 397(2) and Section 401(3).

In the light of the above statements, choose the Correct answer from the options given below

(A) Both Statement I and Statement II are true
(B) Both Statement I and Statement II are false

(C) Statement I is correct but Statement II is false

(D) Statement I is incorrect but Statement II is true

(E) Question not attempted
I a1 wuw faw o ¥

FF |: ST R @ g iR 9 Jurie S | 397(3) ofit ara 402(1) W YEH @ T 2
o 11: 3= <arEamd i gaderer s ux Jarfie €M ara 397(2) it g9ra 401(3) ¥ YaH & T
ST HUAl % e ¥ A &g T el § " d9 ST @ 9 S

(B) @ 1 X %o 11 I o ¥

(D) % [ T ¥ AfhT bua 11 T ¥

(A) %o 1 &R %o 11 I o ¥
(C) %9 1 9&1 ¢ wfehd e 11 7@

(E) orgaiaued
28 Match List I with List 11
List 1
A Section 44 CrPC
B Section 46 CrPC
C Section 49 CrPC
D Section 51 CrPC
Tl [ &t gen 11§ gafaa sk
T 1
A g 44 CrPC
B g 46 CrPC
C g 49 CrPC
D g 51 CrPC

I
I
I
v

5 = -

v

List 1T

Arrest how made

Arrest by Magistrate

No Unnecessary restraint

Search of arrested person

T 10
e %8 & SR 31
i g R
BE SETS Ub—b T2l
R =t &l qamstt

Choose the correct answer from the options given below:
T feu U fueedl § ¥ 98 IO @ 999 B
(A) A-II, B-I, C-1V, D-II
(C) A-1, B-IILC-IV,D-II

(E) Question not attempted / STTANT T

3MS_Master Set

(B) A-IILB-LC-ILD-IV
(D) A-ILB-L,C-IILD-IV
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Match List T with List II
List I List 11
A Section 406 CrPC I Power of High Court to
transfer cases and appeals
B Section 407 CrPC I Power of Sessions Judge to
transfer cases and appeals
C  Section 408 CrPC Il  Power of Supreme Court to
transfer cases and appeals
D  Section 409 CrPC IV~ Withdrawal of cases by Judicial Magistrate
Tl [ &t gen 11§ gafaa sk
T 1 @ 1
A 4T 406 HedE I @l ofR ol &l waia
& & T T e B ke
B arx 407 HsmdEd I o« ofR ol &l waia
HE & G T A @ s
C  4ru 408 womedrE I el ofR ordiel &l wraia
HE D oA AR B qRR
D g 409 HremediE IV  =aife afiede S0 Al @l ard|
Choose the correct answer from the options given below:
T feu U faeedl § ¥ 98 IO H 9E9 s
(A) A-II, B-I, C-1V, D-II (B) A-IIL, B-I, C-1I, D-IV
(C) A-1, B-III, C-1V, D-II (D) A-1I, B-1, C-1II, D-IV

(E) Question not attempted / STANG T

Match List 1T with List 11
List 1 List 11

A Arnesh Kumar v. State of Bihar I Section 154 CrPC
B Lalita Kumar v. State of UP Il Section 438 CrPC
C  Shyamlal Mohanlal v. State of Gujarat I Section 41A CrPC
D  Gurbaksh Singh Sibbia v. State of Punjab IV Section 94 CrPC

T 1 &t gdl 11 8 gafaa s

T 1 & 10

A Y TR M RER T I amr 154 Semds
B @@ AR s gu T I g 438 e
C UMW ARAA S eI T4 I g 41T Semdrh
D TReea fis fufea s @ 4o = IV arr 94 dremede

Choose the correct answer from the options given below:

T feu U fueedl § ¥ 98 IO @ 999 B

(A) A-II, B-I, C-1V, D-II (B) A-IIL, B-I, C-1I, D-IV

(C) A-1, B-III, C-1V, D-II (D) A-1I, B-1, C-1II, D-IV

(E) Question not attempted / STTANT T

Master Set 16 P.T.O.
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31 There shall be no appeal by a convicted person where a High Court passes only a
sentence of imprisonment for a term not exceeding six months.
There shall be no appeal by a convicted person where a Court of Session passes only
a sentence of imprisonment for a term not exceeding three months.
There shall be no appeal by a convicted person where a Metropolitan Magistrate
passes only a sentence of imprisonment for a term not exceeding two months.

D  There shall be no appeal where an accused person has pleaded guilty and has been

convicted by a High Court on such plea.
Choose the correct answer from the options given below:
(A) A and B Only (B) A, B and C Only
(C) A, B and D Only (D) B, C and D Only
(E) Questlon not attempted
U dfeq AR T ®is oMW Tel Dl STl S8l Uk Ied A1Aad B HelH § Sfud Tel

a&rmﬁ%s%qﬁmawaﬁwém%l .
Uh feq Afed FTU Bi5 Ui w8} %l ST oiel 9 <A had dF 7o O offds -8l
W FAY F Y A B G0 <@ 2
C froy 3fea =l oo &g ordia &1 &1 Sue, T8l Ush H2dieed Ahiee sad al HeM o

offass T @ orafyr & T wRIEmE @ e @ ¥
D @I 31U 78l BRI STel U ST Sl = Q¥ 3 &1 U fhan & ofiX 36 at@ & At

Waﬁrwma@rmw%l

QO w >

oo}

(A) %ad A it B (B) Had A, B ek C
(C) ®aw A, B s D (D) ®aw B, C 8fk D (E) orgaia usd
32 A As per section 300 of the Code of Criminal Procedure,1973,a person who has been

tried by a competent court for an offence and convicted shall while such conviction
remain in force, not be liable to be tried for the same offence.

B As per section 300 of the Code of Criminal Procedure,1973,a person who has been
tried by a competent court for an offence and acqultted shall while such conviction
remain in force, not be liable to be tried for the same offence.

C  As per section 300 of the Code of Criminal Procedure,1973,a person who has been
tried by a competent court for an offence and convicted shall, while such conviction
remain in force, not be liable to be tried for the similar offence.

D  As per section 300 of the Code of Criminal Procedure,1973,a person who has been
tried by a competent court for an offence and acquitted shall, while such conviction
remain in force, not be liable to be tried for the similar offence.

Choose the correct answer from the options given below:

(A) A and B Only (B) B and C Only
(C) A and C Only (D) B and D Only
(E)  Question not attempted

A <= gl dfear, 1973 @ gra 300 & ST, @wﬁﬁmwwma%m@am

ngmww%aﬁ?a‘mﬁgﬁ:mw , SISfh UEl ToT W@ 8, SHl Uy
|
B < ufsan dfear, 1973 @t 9r 300 & STIER, TH AR N9 9 TH Ha¥ I[@d 810 U6
3TUY % T gwHant Iamn T 3 o U HY feAn W ¥, Siaie vEl awftE @ g, B‘Eﬁ
ma%s%qgmaaﬁ%mﬁmﬁrﬁﬁm
C <z fehan dfear, 1973 &1 911 300 & AR, T& Al o9 I Th 909 & o T dam
WW&WWW%@T?@WW%,W&E@WM%,WWH

L
&
141,
z
!
el

D < ufsean dfear, 1973 @ 9r 300 & STER, TH AR W 9 TH Ha¥ <I-@d 810 U6
ma%s%qgmww%ﬁaﬁaﬂﬁmw%

THM 3IUY & ¢ Bl g & 7 SAERl T8l e
%%qw%w@rﬁ@ra@rwwwaﬁﬁm
(A) %ad A it B (B) %ad B aiX C
(C) waw Asir C (D) %a@ B & D (E) orana usd
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33 A The Public Prosecutor in charge of a case may, with the consent of the Court, at any
time before the judgment is pronounced, withdraw from the prosecution of any
person.

B The Assistant Public Prosecutor in charge of a case may, with the consent of the
Court, at any time before the judgment is pronounced, withdraw from the prosecution
of any person.

C  The Public Prosecutor in charge of a case may, with the consent of the Court, at any
time before the order is passed, withdraw from the prosecution of any person.

D  The Assistant Public Prosecutor in charge of a case may, with the consent of the
Court, at any time before the order is passed, withdraw from the prosecution of any

person.
Choose the correct answer from the options given below:

(A) A and D Only (B) A and B Only

(C) A and C Only (D) A, B, C and D all

(E) Question not attempted

A ToE A w1 IR A TS, e S gedta |, e g S 9 g feer o
g, el O aafe & efireie™ 9 52 @&ar %)

B fhE A & YU TEE @l ST AT, <Ay & Tedia |, g g oin 9 ued fher
ot gog, fedl f =afem & e 9 &< gaar )

C 5o A &1 99Tl @i 1Tl <A & Geatq d, Sfesl Wikd &M ¥ Usd fedl O
gy, el O aaf & erfirie™ 9 &2 @&ar )

D el amd & YA 9Ee |ie Sdieie, ey $I GeHd ¥, STl Iid B9 © ged fhdl
ot gug, fedl f =afea & SfEeE 9 % gaar )

T feu U faeedl § ¥ 98 IO @ 9E9 B

(A) Fad A sk D (B) %o A ik B

(C) ®aw@ Al C (D) TH A B, CairD

(E) g ued

34 A Any person accused of any offence before a criminal trial shall be competent witness.
B The accused of any offence shall be called anytime as a witness.
C  The failure of the accused person to give the evidence shall not be made the subject
of any comment by any of the parties.

D The Metropolitan Magistrate examining the accused shall make memorandum of the

substances of examination of accused.
Choose the correct answer from the options given below:
(A) A and B Only (B) A, B and C Only
(C) A, Cand D Only (D) B, C and D Only
(E) Question not attempted
A SUUYE YEHEH 9 UE R W STUY @ ST B o Al WeW Tars e
B el Y ooy & SOl @B TaTE k€ H HH A JART S GHAT S|
C ofvga At a1 aied o # faweran @i fopddl o var gra feelt ot feooft a1 fawa w@f ammen
ST
D oUW @ S & Il HEMifeeT ARTEE ST @l TUe & TSt & U SHTO |
T feu U fueedl § ¥ 98 IO @ 999 B

(A) Haw A st B (B) ®aw@ A, B &R C
(C) ®a@ A, C &R D (D) ®aw B, C 8ik D
(E) orgaiaued
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35 Police custody may be maximum of 15 days.

If any investigation related to any offence punishable with imprisonment of life total
period of judicial custody will not be more than 90 days including 15 days of police
custody.

C Ifany }i,nvestigation related to any offence punishable with imprisonment of life total
period of judicial custody will not be more than 90 days excluding 15 days of police
custody.

D In casey of an offence which is punishable with seven years imprisonment the detention
shall not increase 60 days.

Choose the correct answer from the options given below:

(A) A, Band C (B) A, Band D
(C) A, Cand D (D) B,Cand D
(E) Question not attempted

A gfve feva efeaw 15 faat & &1 @ ©)

B At &5 Sid Seiad HUard ¥ s fhHl oy o detid 3, af =i fevda & ga
sraty 15 &t @ giew fevea |feq 90 fei & atfuss 21 &M

C 3t Seiad HREW IS4 6l oy § €@6fuq &5 Sig el & A <idd | &
Fa sty 15 fE 1 1 givm feaaa fe @ 90 Rt 9 otfuss 181 i)

D UH oUUY & 9Md ? S HA 9 & HRard ¥ G 5, Foreal 60 o @ et @l e

T fou U faeedl § ¥ 98 IO @ 999 B
(A) A BsrC (B) A Ba&rD
(C) A C3D (D) B, Cs3sD (E) ergara usd

36 A Court in any case in which it is empowered to issue summons for the appearance of any person
may issue, after recording the reasons in writing, warrant of arrest in lieu of summons-

If before the issue of such summons the Court has reason to believe that he has

absconded.

If after the issue of such summon but before the time fixed for appearance the Court

has reason to believe that he will not obey the summons.

C  If after the issue of such summon but before the time fixed for trial the Court has
reason to believe that he will not obey the summons.

D  If at the time of appearance fails to appear before the Court and summons is proved
to have been duly served and also, no reasonable excuse was offered for such non

= >

oo}

appearance.
Choose the correct answer from the options given below:

(A) A, Band C (B) A, Band D
(C) A, Cand D (D) B,Cand D

(E) Question not attempted
g fEE ff ama ¥ e sy et ot safea & suRafa & foao gaw S & @ eifter 3, fafaa

T BT S H{d & 91 GO & 9ed ° PR @1 aiE Sl wY Ghdl -
m%%aaﬁ%swaﬁaﬂ%@r%ﬁwéswa%qﬂﬁww%ﬁﬁagwﬁ
T E)

iy 39 d & GEF S & & 96 afh suiyfa & fau Hulfa ong 9 v <= &
U9 9% [I9@ ® & R § 6 9% g9 &1 e TRl el

o o w >
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A Registering of FIR (First Information Report) in case of cognizable offence is
mandatory.

B A statement recorded by a police officer in respect of cognizable offence is FIR if it
has been recorded before the commencement of the investigation.

C A statement recorded by a police officer in respect of cognizable offence is FIR if it
has been recorded after the commencement of the investigation.

D  Supply of FIR’s copy to the informant is mandatory.
Choose the correct answer from the options given below:
(A) Aand B (B) A, Band C
(C) A Band D (D) A, B,Cand D
(E) Question not attempted
A T SUTg % AMA H ety (e g o) a5t e st #)
B d3¥ om0y & 99 ¥ U giw oifuerl B &Sl e T s wmafie oAl @ i g
BN H UEd T Tl T ¥
C U3 oy & U9 o ue yfad sifaerdl ara 3t fopan e sam wafen & afe aw e gE
BN % q1E TS foRA T ¥
D Y@ & wata! & 9id s Sl st 2|
T fiT U foeedl & ¥ 98 S @ 99 B

(A) AsiRB (B) A, BsRC
(C) A, BairD (D) A, B,CsaRD
(E) orgaiaued
Match List I with List 1T :
List 1 List 11
A Court of Session I Section 11
B Court of Judicial Magistrate I Section 9
C Executive Magistrate I Section 16
D  Court of Metropolitan Magistrate IV Section 20
T [ & ge 11§ gafaa &g
T 1 w11
A 9 O I gra 11
B =iy wfsee &1 erea I a9
C wrums AREZ o g 16
D  #Zuifded Afee @ sRma IV ara 20

Choose the correct answer from the options given below:

T fiT U faeedl & O 98 X @ 9T BT ¢

(A) A-IL B-I, C-1V, D-III (B) A-IIL B-IL, C-1V, D-I
(C) A-1, B-II, C-1II, D-IV (D) A-1V, B-111, C-1, D-II
(E) Question not attempted / STTANT T

Master Set 20 P.T.O.
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Match List I with List 11 :

List I List 11
A A Session Judge may pass sentence of maximum I 10 years
imprisonment of
B The Court of Chief Judicial Magistrate may pass I 7 years
sentence of maximum imprisonment of
C  The Court of Magistrate of First Class may pass I 3 years
sentence of maximum imprisonment of
D  The Court of Metropolitan Magistrate may pass IV 7 years
sentence of maximum imprisonment of
T [ & ge 11§ gafaa &g
T 1 & 10
A UH g A SwTH HEE S Aol i &Y Fhd © I 10a9
B = <R A &1 R SfHead wraa b del o 7
@ & G ©
C v 9ol % ARTEE & TR STiHsHad s o 3ad
B FT 9T Y bl &
D  wgHifaes ARiEe & <Rd sffHsmad s v 74

B FT 9T Y bl &
Choose the correct answer from the options given below:
T fiT U faeedl & O 98 X BT A9 i
(A) A-I, B-II, C-IV, D-III (B) A-1, B-II, C-1II, D-IV
(C) A-1L, B-I, C-1II, D-IV (D) A-I, B-III, C-IV, D-II
(E) Question not attempted / 3TN T

Consider the following statements relating to definition of ‘fraudulently’ under Section 25 of
Indian Penal Code:
A Fraudulent acts cover injury to specified property belonging to known and ascertained
person.
B Fraudulent act cover injury to specified property belonging to unknown person.
C Fraudulent acts cover injury to unspecified property belonging to unknown and
unascertained person.
D  Fraudulent acts cover injury to property and injury of every other kind.
Choose the correct answer from the options given below:
(A) Aand D (B) A, Band C
(C) B,Cand D (D) Cand D
(E) Question not attempted
AW &% Giean &l 9y 25 % dea ‘drengsy i qrearsn & day 7 fFrafaiaa el o faem ¢
A e wE S SR GRS @ g i GuRt B e A st B e we E
B &Y & S A o Sefua M dufq @ e aw afq @ i & §)
C  HUY HE ST ST ST AT F FeUd AW Guf &1 8 ATl & Bl e Hd ¢ |
D &Ueu &l # GO B M Al &fd S o WUl W Bl et S |
T fiT U faeedl § 9 98 X @ 9T BT

(A) AsRD (B) A, B3R C
(C) B,CsikD (D) CaRD (E) ergara usd
Master Set 21 P.T.O.
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The right of private defense against movable and immovable property under Section 97(2)
incorporate which of the following offence/ offences of Indian Penal Code?

A Theft, Misappropriation of Property, Mischief
B Robbery, Criminal Breach of Trust and Extortion
C  Theft, Robbery and Mischief of any kind against property
D  Theft, Robbery, Mischief and Criminal Trespass
Choose the correct answer from the options given below:
(A) A and B Only. (B) B and C Only.
(C) B and D Only. (D) D Only.
(E) Question not attempted
g1 97(2) % qEd I S oTad "ufq & Raems e e & sifyenr o Fefafaa & @ aF @ anas
g dfedn @1 Y i &7
A =, dufq @ gfdtEm iR sra
B &I, SMUUiie = W SfiY 3gaTad
C =, sl &R dulg & faam fREl & 9@ & A
D =, s, RRA S SOATHE S
T fiT U faeedl § 9 98 IOX @ 99 i

(A) &aw A SR B (B) %aw@ B o C
(C) %« B &iX D (D) ¥Fa@ D
(E) orgaiaued

In which of the following cases, mere preparation to commit an offence is/are made punishable
under IPC?

A Possession of Counterfeit Coins.
B Possession of false weights and forged documents.
C  Making preparation to commit Dacoity.
D  Waging war against Government of India.
Choose the correct answer from the options given below:
(A) A and D Only. (B) A, B and D Only.
(C) C and D Only. (D) A, B, Cand D all
(E) Question not attempted
freafafaa & & fg A o, had SAUU" B B JATY DI SAEIE & Jed dSHd I T E 7

A THal el @ e B 3 W X Sl a&res W@
C  =Hd & & F D 9 TR & 955 gg v
T fiT U faeedl § 9 98 X @ 9T BT
(A) Fad Asit D (B) %aw A, B sk D
(C) e C X D (D) A, B, C 3k D g+
(E) orgaiaued

3MS_Master Set 22 P.T.O.
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Which of the following legal proposition is not applicable for an offence of wrongful restraint
under IPC?
A There has to be voluntary obstruction of a person.
B The person must be restrained from proceeding in any direction in which he has right
to proceeds.
C  The person must be restrained from proceeding to all direction beyond a certain area.
D  Even mere verbal prohibition, direction or demonstration will be sufficient to constitute
wrongful restraint.
Choose the correct answer from the options given below:
(A) A, B and D Only. (B) A, Cand D only.
(C) A and B Only. (D) A and C Only.
(E) Question not attempted
STEUIT &% Toq TRIY STEUY & oUuy & g Feafafed & @ &9 @1 S TwE ar] Te 8l s 7
A el =fE @ Wi s S A
B =fed @ feel | fem ¥ wRiarE @ U 9wy BEE 39 @l & San §)
C =afra & s MR &5 9 w0 gl o & s ¥ U ST anfey |
D %aa Hifaw Foy, e a1 wedH 9 @RI @iy Hia ®¢ & g gard s
T fiT U faeedl § 9 98 IOX @ 9T B

(A) Haw A, B sk D (B) Waw A, C 3k D
(C) &aw AR B (D) Fa@ A sl C
(E) orgaiaued

Consider the following proposition relating to offence of Assault, Affray and Riot. Which of
the following must be proved for offence of Riot under IPC?
A It must be committed in a public place and cannot be committed in private place.
B It must be committed by two or more persons.
C It must be committed by five or more persons with any one of the objectives specified
in Section 141 of IPC.
D It is an offence against the public peace and generally premediated.
Choose the correct answer from the options given below:
(A) A, Band D Only. (B) A, Cand D Only.
(C) A and C Only. (D) C and D Only.
(E) Question not attempted
AU, &M X a1 & Sy § Hafuq feafaiaa geaa o e &) 9riiE 4 | & deq saa
& sy % fag Feafataa & @ frg arfeq fean s anfeg ?
A Y GIdWNG WM 9T B AT ST AT ofik ol T 9 wiiid e fhar S gehdn ¥
B ¥® a @ 31 aifyss Rl g fean s iyl
C e U & 9t 141 ® iide Seeai & 9 fpdt uo & 9 wiw an arfres =afeaal g s
BT AT
D 9% grste qifd % Rede ua ouuy ¥ ok oW iR W) gahaiia 7
T fiT U faeedl § 9 98 X @ 9T BT

(A) Haw A, B sk D (B) ®aw A, C sk D
(C) & AsiR C (D) ¥a@ C st D
(E) orgaiaued
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Subject to provision of Section 99 IPC, the right of private defense of property under which of
the following offence extends to voluntarily causing death to wrongdoers?

A Robbery
B Mischief by fire on any building, tent or vessel which is used for human dwelling.
C  An act of throwing acid which may cause reasonable apprehension of grievous hurt.
D  House breaking by night.
Choose the correct answer from the options given below:
(A) Aand B (B) A, Band C
(C) A Band D (D) A, B,Cand D
(E) Question not attempted
g 99 SEUE % WAL & U @ 5T HUMT @l il & & sffusr Frefatad o 9 fed sy
% TEA AVHAT Dbl WBd T BT BT T (ST Bl & 7
A s&HA
B  wMa fam % U Wt ey S A feelt off Wee, I a1 Siea | OSIRT @ i |
C o %% & & S 19 9 @ S Sfaa o 8 Sl §|

D ¥ TEdeA
T fiT U faeedl § 9 98 IOX @ 99T i
(A) ASRB (B) A BaRRC
(C) A BaD (D) A B,CsasmD
(E) orgaiaued

Match List I with List IT and select the correct answer using the codes given below:
List I List 11

Section 350 IPC Assault

Section 351 IPC Criminal Force

Section 339 IPC Wrongful Confinement

Section 340 IPC Wrongful Restraint

gl I @ g 118 gafaq Sy ot e Gy T g2 &1 9&m & @8 IO g

o aw>
Chi—w i

el T 10
A IEYRET @ gra 350 I &°a
B omedrEy & gt 351 0 smuutas ad@
C oMUl @ gra 339 I w3y gy
D  smedrE & g 340 IV & saie

Choose the correct answer from the options given below:

T fiT U faeedl § 9 98 X @ 9T BT

(A) A-IL, B-I, C-IV, D-III (B) A-I, B-II, C-IV, D-II
(C) A-1L, B-1, C-1II, D-IV (D) A-1, B-II, C-1II, D-IV
(E) Question not attempted / STTANT T

3MS_Master Set 24 P.T.O.
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Match List I with List IT and select the correct answer by using the codes given below:

List I List 11
A V. C. Shukla v. State (1980) I Joint Liability
B  Birendra Kumar Ghose v. I Criminal Conspiracy
Emperor (1925)
C R v.AM. Sullivan I Sedition

D  Ram Tahal v. State of U.P. (1972) IV~ Unlawful Assembly
Tl [ & g 1 9 gafaa s ofit ik i 7T % &1 9am & @8 sax g
T 1 & 10

A AL L g M T (1980) I oy e
B 4z 3R 99 W "9 (1925) 0 ouatys s
C R ¥M U. wq. glaam M wEE

D ™ Zew@ s™ U1 T (1972) IV @A SrEst
Choose the correct answer from the options given below:
T fiT U faeedl § 9 98 IAX @ 9T B ¢
(A) A-IL, B-I, C-1II, D-IV (B) A-1, B-II, C-IIL,D-1V
(C) A-1I, B-1V, C-1, D-III (D) A-1V, B-1, C-IIL, D-II
(E) Question not attempted / STTANT T

Which of the following is correct regarding the offence of Cruelty by Husband or his relatives
(S 498A)?

A It has been inserted into the Indian Penal Code by Act 47 of 1983.

It has come into effect from 25th December 1983.

It is a non-bailable and cognizable offence.

The allegation in the landmark case of Arnesh Kumar was of S 498A.

Mmoo aow

It is a compoundable offence

uftr ar Iad freaeml (amm 498A) a1 FXal & oy & g9y # Frefafad & @ @59 @oad 7

A 38 1983 % arfafrm 47 a0 ARaE 3 d@lar § sm@n R
B 7g 25 fage¥ 1983 ¥ game @ T ¥

C U8 T R-SHFA iR 999 e %)

D &9 AR & URmerds 9w o o S 498A @ el

E 9% U&% 99y Uy 31

In the light of the above statements, choose the Correct answer from the options given below
ST HUAl & o® | A U T famedt § ¥ @8 IO B I B

(A) A B C (B) B,C,E

(C) A B, D (D) B, C,D

(E) Question not attempted / STTANT T

3MS_Master Set 25 P.T.O.
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The right of private defence of the body extends to causing death, if the offence which occasions
the exercise of the right is:
A An assault with the intention of committing rape
B An assault with the intention of gratifying unnatural lust
C  An assault with the intention of committing robbery
D  An assault with the intention of kidnapping or abducting
E.An assault with the intention of wrongfully confining a person.
In the light of the above statements, choose the Correct answer from the options given below
(A) A B C D (B) A, B,D,E
(©) A CD,E (D) All of the Above
(E) Question not attempted
SRR &l o1t e &1 STfHaR Ig HId & I (9w ¢, aie a0 Sl AR & T & S|l ol &
A  TA@ER FE b 3O W R w e
B  SWGia® A @ JE B & SOS ° R T e
C  3hdll & & 3o 9 fopan T &Ae
D S(UEO a1 AR & IS § R T EHa
E frdl =afed &1 Toq ale § & & & 38 o fRar T sHen)
U] B b o@d H A GU T faeedl § ¥ 98 SAX B 99T BN

(A) A B CD (B) A B, D,E
(C) A CD,E (D) Sude g
(E) orgaiaued

Given below are two statements:

Statement I: Punishments under the scheme of the Indian Penal Code can be commuted either
by the President or the Governor or the appropriate government.

Statement II: The Punishment of transportation of any term shall be construed as imprisonment
of that term, as per S 53 A of the Indian Penal Code.

In the light of the above statements, choose the Correct answer from the options given below
(A) Both Statement I and Statement II are true

(B) Both Statement I and Statement II are false

(C) Statement I is correct but Statement II is false

(D) Statement I is incorrect but Statement II is true

(E) Question not attempted

T A w fw R

FF [ A 38 d@fear &1 Ao % ded Foll B a1 A TR a1 qoaurd a1 SUge] 9wl g S&dl
ST FehaT §

o I wRA € giedn & 410 53 A % Sgar, el | sty & e & 91 @ 39 Aty & wrad
% ®I H HET S

ST Bl b AD § A QU MU fqmenl § ¥ R SO Bl A9 BT

(A) %o 1 8T &9 11 IAF 9 2| (B) @ I 8 ®¥= 11 IFf Taq ¥
(C) %o 1 9&1 ¥ @feh e 11 Taq ) (D) %o [ Td & @feT A 11 9
(E) orgaiaued
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Match List T with List II
List I
A Virsa Singh v. State of Punjab

B Cherubin Gregory v. State of Bihar

C Nashik v. State of Maharashtra
1993 (1) Crimes 1197 (SC)

D Venkatesan v. State of Tamil Nadu

(1997) 3 Crimes 146 (Mad)
el [ &l ge 11§ gafaa s
T 1

A fawEn e s M USE Te
B =%l Wl W R e
C e M Wy ol

1993 (1) Crimes 1197 (SC)
D J®yM M qveg T

(1997) 3 Crimes 146 (Mad)

mb—l

v

Master Set

List 11

S 304A

S 300, First exception
S 300, thirdly

S 300, firstly

@ 10

S 304A
S 300, Tsell AUATE

S 300, =

S 300, 999 T

Choose the correct answer from the options given below:

T fiT U faeedl § 9 98 IAX @ I9H i -

(A) A-IIL, B-I, C-1V, D-II
(C)  A-L, B-IILC-IV.D-II
(E) Question not attempted / STTANT T

Match List I with List II

List 1

Stalking

Kidnapping from lawful guardian
Disrobing Women

OO w >

Voyeurism
el [ &l ge 11§ gafaa s
Gl |
A U T
B a9 oIfyHE® o oTus
C wfkaret & faaeis
D d&—si®

A-TILB-L,C-ILD-TV
A-TLB-L,C-ILD-TV

<8="

S EFRT

List 1T

Section 354A TIPC
Section 354D IPC
Section 354C IPC
Section 361 IPC

T 10

g0 354A EdE
g 354D EaE
g 354C AEYE
g 361 SEdE

Choose the correct answer from the options given below:

A fm Ty el § ¥ 98 IOX @ 9 i

(A)  A-IL, B-I, C-IIT, D-IV
(C) A-IL, B-IV, C-I, D-III
(E) Question not attempted / STTANT T

A-IL, B-III, C-TV, D-T

(D) A-IV, B-I, C-TII, D-II

P.T.O.
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Match List 1T with List 11
List 1
A Protection of Women 1

B Protection of Children I
C  Prohibition of Child Marriage m
D  Prevention of Sexual v
harassment at work place
Tl 1 & gl 11 9 gafaa s
T 1
A e @ e I
B = @ ERewW 11
C 9« fqare W & I
D oRE U dF IdeT & Jea™ IV

GET IT ON
Google Play

Master Set
List 11
Manish Singh v. State Government
of NCT(2018)

Vishal Jeet v. UOI (1990)
RTI Foundation v. UOI(2022)
Vishakha v. State of Rajasthan (1997)

T 10

7Y e sAM gAERr B o g (2018)
fasmer sira s= M gotiamg (1990)

STCEISTE WSS S garsms (2022)
fasman s Tera™ wed (1997)

Choose the correct answer from the options given below:

T fiT U faeedl § 9 98 39X @ 99T il

(A) A-L B-IL, C-1II, D-IV (B)
(C) A-IL, B-III, C-IV, D-I (D)
(E) Question not attempted / ST T
Match List T with List 11
List 1
A Section 364A IPC |
B Section 391 IPC I
C  Section 499 IPC I
D Section 425 IPC v
el [ &l ge 11§ gafaa s
T 1
A g 364A IPC 1
B gra 391 IPC I
C g 499 1PC I
D qra 425 1PC v

A-IIL, B-T1, C-1, D-TV
A-IL, B-TIL, C-1, D-TV

List 11

Mischief

Defamation

Kidnapping for Ransom etc.
Dacoity

w1
RG]
AR
Rl % foT eraeeor enfe
EE|

Choose the correct answer from the options given below:

T fiT U faeedl § 9 98 X @ 9T BT
(A) A-IIL B-IV, C-IL, D-I (B)
(C) A-IL B-I, C-IIL, D-IV (D)
(E) Question not attempted / STTANT T

28

A-TV, B-II1, C-I1, D-I
A-IL, B-1V, C-TI1, D-I
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55 A In civil case no admission is relevant if it is made either upon an express condition
that evidence of it is not to be given.

B In civil case an admission is not relevant when it is made under circumstances from
which the Court can infer that the parties agreed together that evidence of it should
not be given.

C  In civil case an attorney can disclose any admission made to him by his client when
interrogated as witness.

D  An admission made to a stranger, under whatever terms as to secrecy is not protected
by law from disclosure.

Choose the correct answer from the options given below:

(A) A and C only (B) A and B only
(C) A, B and C only (D) A, B and D only
(E) Question not attempted

A AT IS ¥ UH AU 99 TS TR S 8 99 98 A1 @ U W SN U B S
% o5 zHe 99a e T S )

B  dEm AW | Uh TG WEATE T8l & 59 9 39 uRRyfEl ® @1 SRl 5 e e
e FIAM M THAT & [ TR T G Gedd ¢ b 3a® d9d Tel a1 ST aneg |

C <@ 9vd ¥ T% TE% & €9 § I5arS 6T §M WX UH Jeid oa Jateed & Ssud @l
T e ft Wi 1 g &% Tl 2|

D WA & @99 # e A o & ded fREl Sterel @l &1 T Wi H GArEl B

USRI K
T feu U faeedl § ¥ 98 IO H 999 B
(A) Had Ak C (B) %aw A it B
(C) %aw A, B iR C (D) %Haw A, B sik D
(E) orgaiaued
56 A The birth of a child during marriage i1s the presumption of legitimacy which is

conclusive, no matter how soon birth occurs during marriage.

B The birth of a child within two hundred eighty days from the death of his father is
presumably his legitimate son, no matter the mother was married before his birth or
not.

C The birth of a child within two hundred eighty days from the death of his father is
presumably his legitimate son, if the mother remained unmarried before his birth.

D  Presumption regarding legitimacy of child under the Indian Evidence Act, 1872 is
rebuttable in nature.

A e % IOE T B TH JGA B AT & S e €, 9 faae & S 5 e
A1 Siedt @l T

B oo fyar & 9 € &1 A ol i % oY 1% = @ S g9ad: 39@ 99 UF §, 9%
qf SEh 9 ¥ Ued fqarted & A T |

C o frar &l 4 & &1 & orelt il & fiat w& s=9 & 571 g9aa: 39@ 99 9 g, i
qf 3qh 9 ¥ Ted Afqarwa @ w|

D i wied stfufad, 1872 % qed e @ 991 % S H AN Y # T A 3|

Choose the correct answer from the options given below:
A fim T et § @ 99 39X @ T s

(A) AB B) A B, C
(C) A B, D D) A C D
(E) Question not attempted / STANT T
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Match List I with List 1T :
List 1 List 11
A Admission may operate as estoppel Section 31 Indian Evidence Act, 1872
Section 41 Indian Evidence Act, 1872
Section 48 Indian Evidence Act, 1872

I
B  Relevance of judgment in probate I
C  Relevance of opinion regarding the m
existence of customs or rights

D  Relevance of opinion in relationship IV ~ Section 50 Indian Evidence Act, 1872

T [ & ger 11 8 gafaa st
el T 10
A WepdfEm & e d s sxadd ¢ [ 97 31 ARaE ey sttutrm, 1872
B gy ¥ ol @ wrdfresan 0 9 4] 9™ e stratEm, 1872

C dfaTas o aferl & siaa & I orx 48 wia™ e sifefem, 1872
Y H ST Bl ATE R
D ddyg # ofma @l wrEREd IV ara 50 swar gie stfafrm, 1872
Choose the correct answer from the options given below:
T feu U fueedl § ¥ 98 IO @ 999 B
(A) A-I, B-II, C-IV, D-III (B) A-1I, B-I, C-1II, D-IV
(C) A-1, B-II, C-1II, D-IV (D) A-1I, B-1, C-1V, D-III
(E) Question not attempted / STTANT T

Match List T with List 11 :

List I List 11
A Pickard v. Sears I Admission
B  Bishwanath Prasad v. Dwarka Prasad II  Estoppel
C  Stillman v. Stillman Il - Communication during marriage
D  Scott v. Sampson IV Evidence of character
T [ & ger 11 8 gafaa st
T 1 w11
A TR Tm R I el
B fquy yER S M ERE TR o feed
C feaia W Reaiq I faare & AR qee
D i M dwuEA IV af& @&

Choose the correct answer from the options given below:

T feu U fueedl § ¥ 98 IO @ 999 B

(A) A-1, B-II, C-1II, D-IV (B) A-1I, B-1, C-1II, D-IV
(C) A-1, B-II, C-1V, D-III (D) A-II, B-I, C-IV, D-III
(E) Question not attempted / STTANT T
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"Prosecution wants to submit the statement made by the victim, shortly before her death that a
man was standing near her with a gun in his hand." Decide which of the following rule of
relevancy will apply to such statement.

It is relevant as:
A Cause under section 7 of Indian Evidence Act, 1872
B  Motive under section 8 Indian Evidence Act,1872
C  Conduct under Section 8 Indian Evidence Act,1872
D  Part of same transaction under section 6 Indian Evidence Act, 1872
Choose the correct answer from the options given below:
(A) Aand B (B) Band C
(C) Cand D (D) Aand D
(E) Question not attempted
AT Ta difsa T SE@ UG ¥ $B 99 e ST T FAF YEIA BT 9dl © 6 59k U Uh
STIEHT &1 W §9% g @et a1’ 7@ &} % e & Fefafed 9 9 @9 @1 v 39 @ & 9
X @R B
% 39 TN UEAE
A WRAE wied srfafem, 1872 @1 °ar 7 % d8d &R
B WRdm @ied sifufem, 1872 @1 a1 8 &% d8d A%Es
C  9RAE Hie stfafrem, 1872 &1 a1 8 % q8d SRl
D 9RaE ded sAtutEm, 1872 @l O 6 & d8d SHI Wad &l fee
a0 fiw U fasedi W ¥ 98 I @1 99w

(A) A3RB (B) B3 C
(C) CsikD (D) ASRD
(E) orgaia gsd

In defense against prosecution of assault against enemy at Mumbai, the defendant produced his
admission card of a hospital in Delhi of the same date and time. Choose the correct rule of
evidence along with provision of law.

(A) Conduct of Defendant (B) Plea of alibi
(C) Res Gestae (D) All of the Above
(E) Question not attempted

a2 ¥ 399 % faas sad & by & gad ®, yiqardl 7 SH ariw of Ty W el & U sramara
N AU AABS 9T ToRAT| BT & WEUE b W Wied H Gel T g |

(A) wRMER & e (B) it &1t wherdl
©) Wi (D) e a4
(E) orgaiaued
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X an accused in murder case was arrested and he made a statement that "He did it by a sword
which he had kept in his garden in his village and police recovered the same." Can prosecution
use this statement?

A It is made in police Custody.
B It is an admission of fact voluntarily.
C It is made that lead to discovery of objects used in commission of offence.
D It is admission made after arrest.
Choose the correct answer from the options given below:
(A) Aand B (B) Band C
(C) Aand D (D) Aand C
(E) Question not attempted
X & & Uk STiga @ RRRR fvan e ofiX saw o fean o sam 97 aaan 9 fean o @ san
SO T | SO O W @ of SR gies | 3H quWe R ar L. R ifis el 39 % il Sun
HT bl & 7
A I% gfod wed ¥ R g
B I% W 9 9 & WH 5l
C o5 U @WK ¢ ey oad § Tga aggeli &l @il el ¢
D ¥ iR & 9% &l T3 @i |
T feu U faeedl § ¥ 98 IO # 99T B

(A) A3B (B) Bsaix C
(C) AsRD D) AarC
(E) orgaiaued
Match List I with List 1T :
List 1 List 11
A Section 24 of Indian Evidence Act, 1872 I Estoppel
B Section 115 of Indian Evidence Act, 1872 I Doctrine of Alibi
C Section 11 of Indian Evidence Act, 1872 I  Confession Before Police
D Section 113 of Indian Evidence Act, 1872 IV Privileged communication
with Lawyers
T 1 &t gdl 11 8 gafaa st
T 1 T 10

I e AtatEm, 1872 @t | 24 I ECEL |

I giem srfafrem, 1872 @t ara 115 0 o@E & Ragid

WG |ied oftafrad, 1872 @t & 11 Il gfTd & e saeam

I deq stfufras, 1872 @i ara 113 IV geiel & g fqeeriesr ar g
Choose the correct answer from the options given below:

T feu U fueedl § ¥ 98 IO @ 999 B

(A) A-1, B-II, C-1II, D-IV (B) A-1V, B-111, C-1IL, D-1

(C) A-IIL, B-I, C-1I, D-IV (D) A-III, B-1V, C-1IL, D-1

(E) Question not attempted / STTANT T

o Ow >
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63 Given below are two statements:
Statement I : Every partner is liable jointly with all the other partners and also severally, for all
acts of the firm done while he is a partner.
Statement II : An admission or representation made by a partner concerning the affairs of the
firm is evidence against the firm if made in ordinary course of business.
In the light of the above statements, choose the correct answer from the options given below:
(A) Both Statement I and Statement II are true
(B) Both Statement I and Statement II are false
(C) Statement I is correct but Statement II is false
(D) Statement I is incorrect but Statement II is true
(E) Question not attempted
T 2w fog Mo R
F 1 : TS 9EIRR o 99 ARTRRl & W19 999 &9 9 S STa—ora |, BH % 9 & & fog
STEM! B 8, S 98 AFIER B ¢
FA I : w1 & A19@l 9 ST Th 9EIE ST 6 T8 Wi a1 SSrded B & Radrs 9ed § aig
A % | wikar 9 R & el
STUE Bl & s § A QU T fawmedl § " e ST B GG BN

(A) ® 1 &K o 11 I o ¥ (B) %o 1 &Y w11 31 oree ¥
(C) @ua 198 & wfeea wuw 11 7Ta & (D) @u 1 Taq & WfhT w11 a0
(E) orgaiaued

64 Given below are two statements:
Statement I : In determining whether a group of persons is or is not a firm, or whether a person
is or is not a partner in a firm, regard shall be had to the real relation between the parties, as
shown by all relevant facts taken together.
Statement 11 : The sharing of profits or of gross returns arising from property by persons holding
a joint or common interest in that property does not of itself make such persons partners.
In the light of the above statements, choose the correct answer from the options given below:
(A) Both Statement I and Statement II are true
(B) Both Statement I and Statement II are false
(C) Statement I is correct but Statement II is false
(D) Statement I is incorrect but Statement II is true
(E) Question not attempted
T 2w fog Mo R
& 1 : I fraifa &0 9 6 7 Aafmal & 0@ 998 06 BH & 91 6l ¢, 91 Bi5 i T BH | AFIETT
T a1 R, val % W aRdiaw g9y B W ¥ 1@ S, s F g arEten Je g e @ g
o I : 39 dufa # dga a1 9 & @ A AfwREl g1 d9fd § e 8N ard G4 A1 g
et &1 dearn vy sl & ArieR TR 9 § )
U] BYF| b ST B A9 U MU foeedl § 9 98 39X @ 999 b

(A) ® 1 &K o 11 I o ¥ (B) % 1 X w11 31 oree ¥
(C) @ua 198 & wfeea wuw 11 7Ta & (D) @u 1 Taad & WfhT wed 11 a0
(E) orgaiaued
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In the absence of any usage or custom of trade to the contrary, the implied authority of a partner-
A Does empower him to submit a dispute relating to the business of the firm to arbitration.
B Does empower him to open a banking account on behalf of the firm in his own name.
C  Does not empower him to withdraw a suit or proceeding filed on behalf of the firm.
D  Does not enter into partnership on behalf of the firm.

Choose the correct answer from the options given below:

(A) B and D only (B) A and B only

(C) C and D only (D) A, B, C and D all

(E) Question not attempted

MR & fRdl faudia ven @ e & otwE H, WrRR @ R e —

W % FaEE | Hafya faam @ Awrea & A uega 6 B SR < §)

T T § B @ X ¥ T @ @i @& SAfH@ a5

®H B X W TET GHEH AT BRAE] DI ATH O BT SAIHT Tel 5

B AT F FrEEry # onfr T e B

T feu U fueedl § ¥ 98 IO @ 999 B

(A) Haw B &R D (B) %aw A ik B

(C) waw C &R D (D) A, B, C3ix D@

(E) orgaiaued

After a partner’s death, the business is continued in the old firm name. Whether the legal heirs
of the deceased partner are liable for any acts of the firm?

A The continued use of the name or of the deceased partner’s name as a part thereof
shall not of itself make his legal representative or his estate liable for any act of the
firm done after his death.

B If the estate of the deceased person’s property is insufficient to make good, the
personal assets of the legal heirs will be liable for any of the acts done by the firm.

C  The estate of the deceased person is liable for any of the act done by the firm.

D  The legal heirs of the deceased partners shall be liable for any of the act done by the
firm after the demise of the partner.

Choose the correct answer from the options given below:

(A) A only (B) A and C only

(C) B, Cand D only (D) C and D only

(E) Question not attempted

TEER & Yg & I8 Fa9™ B G T F TR W1 St 31 R/7 g 9EeR & S saariesr s
& fopen o s & fog SaEr ¥ 7

A M A A GEIRR % AW H I9% UH BW % 0 H IO START S€e BT giae an
SHH WU ®l, 39D JG & I8 6 T wH & R Ff - & fau SaErr @ g

B 3ft gq =afed & dufa afaqfd & & fau stoaf 3, dF S saardesal s e gata
wH A Y MY fRE o B % fT SaeErr B

C 9a = & dufa w1 g1 few T it off 0 & fae SaeErh 7)

D gq 9FRERI % HA SAUrdsd, YRR & M99 & 96, B gru 6w U fed §f a0 %

oo w»

Eal
Eal
Eal
wH

forT SRy @)
T feu U fueedl § ¥ 98 IO @ 999 B
(A) Haw A (B) %ad A ik C
(C) ®aw@ B, C X D (D) ®aw@ C &R D
(E) orgaiaued
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67  Unless there is agreement to contrary, which of the followings is part of right of outgoing partner
to carry on competing business?
Right to carry on business competing with that of firm.
Right not to carry on business competing with that of firm.
No right to use firm's name.
Right not to solicit the custom of person who was dealing with the firm before he
ceased to be partner.
Choose the correct answer from the options given below:
(A) A and D only (B) B and D only
(C) A, Cand D only (D) B, C and D only
(E) Question not attempted
S a% 6 39 [auda ®is gugian 7 ©, Fefafes § @ o @1 viawdl geam #@ % g Sadas
AR & SR & e &7
A wH & Ty gmd] #T AW FhaEd & S W@ B S|
B wH % @iy gl & O aEd B S Tl W@ #@ A |
C ®H & M & IWAN & &H Bl SATUHT T8 |
D U Al & HEH B AR T S S B F AFIER T F Usd 39% 1 H HT T A1)
T feu U faeedl § ¥ 98 IO #1999 B

wl@Rvel

(A) Had At D (B) %aw@ B ik D
(C) ®a@ A, C ax D (D) %aw@ B, C & D
(E) argaied ued
68 A “Property” means the special property in goods, and not merely a general property.
B “Specific goods” means goods identified and agreed upon at the time a contract

of sale is made.

C A person is said to be “insolvent” who has ceased to pay his debts in the ordinary
course of business, or cannot pay his debts as they become due, only where he has
committed an act of insolvency.

D  “Price” means the money consideration for a sale of goods.

Choose the correct answer from the options given below:

(A) Band D (B) Aand C
(C) A, B,Cand D (D) B,Cand D
(E) Question not attempted

A gufa” @ ot A o fadiw w@ufa ¥, 9 6 haw e gmr @Ry |

B  “fafir amm” @ ot ¥ el & ey & @9y deem Mg iR weAd Y @M |

C U A & “Ranfaar’ wal 91 & S JaE™ & 9 %A STUR 0T H1 I ST
§T HY AT S, AT S FON BT A 6l B bl &, dfh I 37 B S ©, Haa qel oTaf
9 fyarfeuas &1 & e ¥

D e’ & o 7w @l el & e S am wiaea 3

T feu U fueedl § ¥ 98 IO @ 999 B

(A) Ba&R D (B) AsirC
(C) A B, CarD (D) B, Cs3D
(E) orgaiaued
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69 A The goods remain at the seller’s risk until the property therein is transferred to the
buyer.
B When the property therein is transferred to the buyer, the goods are at the buyer’s risk
whether delivery has been made or not.
C  When the property therein is transferred to the buyer, the goods are at the buyer’s risk
only where the delivery has been made.
D  Where delivery has been delayed through the fault of either buyer or seller, the goods
are at the risk of the party in fault.
Choose the correct answer from the options given below:
(A) A and B only (B) B only
(C) A, Cand D only (D) C only
(E) Question not attempted
A AW R & Sigd T O9 O T ¢ o9 Jd "9 GUeR &l i Tel # Sl
B o dufd @lER & AT & Sl &, A 9 e & Siieas 9% B ¢ | e

B TS B AT R
C <« dufd @’ &I s@iakd & 9l 8, af "7 GUeR & Siigd X a8, S8l fsarad
B T T
D % G{ER a1 fqohdr @t Tl & bier SaEd § 0 g3 %, A A Tl & a9
& Sifg" X ¥
T feu U faeedl § ¥ 98 IO @ 999 B
(A) %o A ik B (B) %o« B
(C) ®aw@ A, C e D (D) waw C
(E) orgaiaued

70  Given below are two statements:
Statement I : If the buyer or his agent in that behalf obtains delivery of the goods before their
arrival at the appointed destination, the transit is at an end.
Statement II : If the goods are rejected by the buyer and the carrier or other bailee continues
in possession of them, the transit is deemed to be at an end, even if the seller has refused to
receive them back.
In the light of the above statements, choose the correct answer from the options given below:
(A) Both Statement I and Statement II are true
(B) Both Statement I and Statement II are false
(C) Statement I is correct but Statement II is false
(D) Statement I is incorrect but Statement II is true
(E) Question not attempted
RLE RGO ) g
oA 1 : At glar a1 38% Teie 3 FEa @ oY 1gad @ 9 919 ol e o &l 5, a1 9o
T & T
o 11 : A GUeR 1 91 &l SR &Y 61 Sl & o aed a1 o7 SHMaaR & &esl 3 Tedl
2, 1 UTCTA @l IS A S g, 9ol ¥ fhar S A W W 3eR Y iR w#
U] BYF| b ST B A9 U MU foeedl § 9 98 39X @ 999 b

(A) ® 1 &K o 11 I o ¥ (B) % 1 X w11 31 oree ¥
(C) = 19 ¢ dAfeT o 11 o8 & (D) @A 1 & ¥ @feed woue 11 9
(E) orgaiaued
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Match List I with List II.
List I List 11
A Debentures would not come I R. D. Saxena v. Balram
within the purview of Goods. Prasad (2000) 7SCC
B Paper entrusted by clients to I R D. Goel v. Reliance
his counsel is not Goods. Industries (2003) ISCC
C  Fixed deposits receipt is Goods. I SBI v. Neeta Ashok Nayak (2000) Bom.
D  Hire Purchase Agreement IV Helby v. Mathews (1895)
T [ & ger 11 8 gafaa st
T 1 & 10
A ST AW & ey ¥ T emgAl 1 SIS G M SaH E e (2000) 7SCC
B Hafrd g0 SN g@i| & I e TEd M e
faw MU w7 T ¥ F=ES (2003) ISCC
C wEfy s R 99 3 I wgSens s9M ar e19lie s (2000) Bom.
D fomn wie gmsian IV &1 s degst (1895)

Choose the correct answer from the options given below:

T feu U faeedl § ¥ 98 IO H 9E9 B

(A) A-IV, B-IL, C-II, D-I (B) A-II, B-I, C-1II, D-IV
(C) A-II, B-1V, C-IIL, D-1 (D) A-1, B-II, C-1II, D-IV
(E) Question not attempted / SITANT T

Arrange the cases in chronological order starting from the latest to the earliest.
A Hafeeza Bibi v. Shaikh Farid B Abdul Rahim v. Abdul Zabar
C  Magbool Alam v. Mrs. Khodaija D Katheesa Umma v N. Kunhamu
E  Tllahi Shamsuddin v. Jaitunbi Makbul

FATGHHE HH § ! B TAMGH & TEN S A FaRad &L |
A THRET SE W 9E B B ogd ©M §M € 6T
C  Wohgd o@H 9 G4 @iast D  ®diS 37 S TA. FeN
E 5@ sege I SgTe Ahge

Choose the correct answer from the options given below:

T fiT U faeedl § 9 98 X @ 9T BT

(A) BCADE B) AEBCD

(C) BADCE (D) ABECD

(E) Question not attempted / STTANT T
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73  With respect to distant kindred’s, under Sunni law of inheritance, the distribution of the property
is subject to
A Where all the heirs are in the same degree and sex of their ancestors through whom
they are connected to the deceased is same, the heirs take per capita with males and
females taking in the same ratio
B  Like Hindu law, the nearer in degree excludes the remoter
C  Where the sex of the ancestors through whom the descendant heirs are related to the
deceased is different, at the stage of difference, the double portion goes to the male
line and these shares will then be taken by their descendants irrespective of their
sexes
D  Where two or more heirs claim through the same immediate ancestors and these
ancestors are two or more and of different sexes, the rule is to count one ancestor as
one only and allot the shares in the ratio proportionate to the ancestors
Choose the correct answer from the options given below:
(A) B and C only (B) A and D only
(C) A and C only (D) A and B only
(E) Question not attempted
W%gﬁﬁwﬁﬁ,g%ﬁﬁsﬁmﬁ%ﬁwaﬁ Tutq & faaeor feafafeq & od| §
A o g i T @ Sl § ¥ el 3% gEe & foin e mrem 9 9 gas 9 93 ¥, '
¥, arfa geui o afkanet & 9 gam orura o ufa afe ad ¥
B fég & @ av, ol & Frevead gox wadl & It #x Iar ¥
C W@th%mﬁmsﬁm%%ﬂ%smm@ramw@mﬂw%wﬁaﬁmaﬁ%
P & T T, e e gew & 9 B S S ¥ i A fewr e dorst g o

D % A A Y AfUE IAUES Th &l qebld gasil & AEH 9 a1 B & S d gad
T AT Y oAt o) fafir= fdm & ¥, Fraw a7 ¢ 6t qaw @ S tw & ' H R

TESll % U # ford @1 ofeed foRan sy

T fiT U faeedl @ 9 99 I @ 99T BT

2
*

(A) %aw B & C (B) ¥aw A afrw D
(C) wawt AR C (D) ¥awt A &R B
(E) orgaia s

74  Given below are two statements:
Statement I : The Sunni Mahomedans of India belong principally to the Hanafi School.
Statement II : A Sunni woman contracting marriage with a Shia does not thereby become
subject to the Shia Law.
In the light of the above statements, choose the correct answer from the options given below :
(A) Both Statement I and Statement II are true
(B) Both Statement I and Statement II are false
(C) Statement I is correct but Statement II is false
(D) Statement I is incorrect but Statement II is true
(E) Question not attempted
I & wed fag Mo R
FF 1 : 9T & G GO I8 €9 § T T § G ¢
o 11 : 0% B § 9mel & Al OF gl aredl 3R A 6 ST T sk g
SUUFT B & o o A fiw T fasedl § @ @8 SAv @ 99w FiRi

(A) %o 1 &K %o 11 I 9 ¥ (B) %o 1 3T %o 11 I o &
(C) ¥ 1 @& & WfehT we 1 Wia 3 (D) ¥ 1 7Tad ¢ dlhT w11 9 &
(E) orgaiaued
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With respect to “Areeat” the following holds good.
A It is a transfer of ownership
B It is temporary license to enjoy the profits so long as the grantor pleases
C It is not necessary for donor to be of age
D  The prohibitions governing gifts do not extend to Areeats
Choose the correct answer from the options given below:
(A) A, B and C only (B) B and C only
(C) A, Cand D only (D) B, C and D only
(E) Question not attempted
‘e % "y H Fraiaiad w8l g -
A ¥E @ifE & EEA §
B 9 0% STAM&Al UH- Bl & q9 q% W4 &1 S @1 & [0 I8 ol agdd ©
C =T & [T 39 &1 &1 9&d T8 &
D STRl ® FEREE & 9w Fudl @ faan elea @ el ©
T fiT U faeedl § 9 98 I9OX @ 9T BT

(A) ®aw@ A, B &R C (B) aw@ B & C
(C) ®aw@ A, C R D (D) ®aw B, C afix D
(E) orgaiaued

Match List I with List 11 :
List 1 List 11

A Sapinda Relationship I Section 3(d) Hindu Marriage Act, 1955
B Degree of Prohibited Relationship II  Section 3(e) Hindu Marriage Act, 1955
C  Prescribed I Section 3 (g) Hindu Marriage Act, 1955
D Uterine Blood IV Section 3 (f)
T [ &t g 11§ gafaa S
T 1 w11

A Hfrs @9y [ ara3(d) &g faame atfufrw, 1955

B ffrg fisa & fem 0 o 3(e) g faare aifafrm, 1955

C fratfa M g3 (g) g faaw sfufmm, 1955

D Wi & IV g3 (D)
Choose the correct answer from the options given below:
T fiT U faeedl § 9 98 X @ 9T BT
(A) A-L, B-II, C-III, D-IV (B) A-IV, B-II, C-1, D-III
(C) A-1V, B-1, C-IL, D-III (D) A-IV, B-IL, C-II, D-I
(E) Question not attempted / STTANT T
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Match List I with List 1T :
List I List 11
Right of Child in Womb I Section 25 of Hindu Succession Act, 1956
Murderer Disqualified I Section 26 of Hindu Succession Act, 1956
Succession when Heir Disqualified III  Section 20 of Hindu Succession Act, 1956
v

A

B

C

D  Converts Descendent Disqualified Section 27 of Hindu Succession Act, 1956
L &l

Bkl T 11 8 gafaa &g
el T 10
A T H T @ AHER I g sautusr statEm 1956 & g 25
B @ @AM I Ry sautusr sifafme, 1956 @ 9 26
C SOUHeR 99 Saueed s@rg o Il &g Saufer stfafem, 1956 @ ara 20
D eWiid 49 S IV &g Saufasr sifafm, 1956 @ ara 27

Choose the correct answer from the options given below:

T fiT U faeedl § 9 98 X @ 9T BT

(A) A-1, B-II, C-1II, D-IV (B) A-1I, B-1, C-1II, D-IV
(C) A-III, B-I, C-1V, D-II (D) A-IV, B-IL, C-I, D-I
(E) Question not attempted / STANT T

Given below are two statements:

Statement I : Every person who procures marriage of himself or herself to be solemnized under
this Act in contravention of the condition specified in clauses (iii), (iv), and (v) of Section 5 shall
be punishable, in case of contravention of the condition specified may extends to one year or
with fine up to Rs one lakh or with both.

Statement II : In case of contravention of condition specified in clause (iv) or clause (v), with
simple imprisonment which may extends to six months or with fine which may extends to one
thousand rupees or with both.

In the light of the above statements, choose the correct answer from the options given below :
(A) Both Statement I and Statement II are true

(B) Both Statement I and Statement II are false

(C) Statement I is correct but Statement II is false

(D) Statement I is incorrect but Statement II is true

(E) Question not attempted

T A w fw R

F 1 : TS AfR o 90 5 & €3 (iil), (iv), 8 (v) ¥ Fiide gaf & swiow ¥ 39 srfufrem & asq
wd @ faar s 8, @ MiE @l @ Seed B WX UH 9¥ a% A1 Uh A 99 q@ B gEET Al
M ¥ 3feq fRa S EE ¥

w11 : @3 (iv) @ @ (v) § e ol & Sced & 9md ¥, QR sREd S 5% 76N a6 SgrT
S GHhAl § A1 AT Sl U oY 69d q% 9611 o1 §ahdl & a1 QM & @)

ST Bl b AD § A QU MU fqmenl § ¥ R SO Bl A9 BT

(A) %o 1 8T &9 11 IAF 9 2| (B) %y I o B 11 31 e ¥
(C) %o 1 9&1 ¥ @feh e 11 Taq ) (D) %o [ Td & @feT A 11 9
(E) orgaiaued
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79  Given below are two statements:
Statement I : Sapinda relationships extends as far as the third generation in the line of ascent
through the mother and as far as fifth generation in the line of ascent through the father
Statement II : Sapinda relationship includes relationship by half or uterine blood as well as by
full blood and adoption. It also includes both legitimate and illegitimate blood relationships
In the light of the above statements, choose the correct answer from the options given below :
(A) Both Statement I and Statement II are true
(B) Both Statement I and Statement II are false
(C) Statement I is correct but Statement II is false
(D) Statement I is incorrect but Statement II is true
%E% Questlon not attempted

3w fam :

w1l aﬁ%waw%mm@rwmaﬁ%@ﬁW%wﬁﬁm%mw@rwwaﬁ%@
o uiEdl el d@ % 3T )
w11 : Hﬁ's’a-erafr Y AT THISTE & T % r—Ag U7 @ ST e o &1 69y e © | 5E
SEST ST eIt EF0 T8 % gA & Red |l et )
Wwﬁ%mﬁ%mmﬁwﬁﬁ%ﬁwwwaﬁﬁq

(A) wu 1 8T A 11 FT 9 2 (B) e 1 8T @ed 11 <9 o &1
(C) %o 1 981 3 @feh e 11 Taq ) (D) %o [ Td & @feT a1 9
(E) oraiaued

80 Consider the following statements with respect to Hindu Succession and select the answers using
the codes given below:

A Provisions which expressly denied the application of HSA, 1956, to prevention of
fragmentation of agricultural holdings or for fixation of ceilings or for devolution of
tenancy rights in respect of such holdings has been omitted under Hindu Succession
(Amendment) Act, 2005
Coparcenary rlghts are given to the daughters from 3™ September, 2005
In Gurupad Khandappa Magdum v. Hirabai Khandappa Magdum (1978 (3)SCR
671) it was observed that share of widow on partition of coparcenary property between
father and son was in addition to the share she would receive as Class I heir of the
deceased.

D  Four more legal heirs in Class I category of a Hindu male dying intestate are son of

a pre-deceased daughter of a pre-deceased daughter, daughter of a pre-deceased

daughter of a pre-deceased daughter, daughter of a predeceased son of a predeceased

son, daughter of a pre-deceased son of a pre-deceased daughter.
Choose the correct answer from the options given below:
(A) B, C, D only (B) A, B and C only
(C) A and C only (D) B, C and D only
(E) Question not attempted
%{W@W%Wﬂﬁ%ﬁ%ﬁéﬁ%ﬁﬂﬁﬂﬂﬁﬁ%ﬁ&% &N TN HT IAL G

A S W ®9 ° w@wmﬁﬁm,w%%@@@ﬂ@rwm% S

% fogss & Uwam & 7 gagal % o & foo @ o) Sl % g9y o %

el & sEaraeel % g fég saatue (dengm) sifafem, 2005 % Ja &1 fean T 7

B 3%-« 2005 § el ®l gearye st iy ™ ¥
C H;;%WWEW (1978 (3)SCR 671) ® =& qran 71 fb firam ofix
Hufq & faure X fauar & e sq fom & afafea oan <t S8 gas
%5 Em‘ I wrﬁm‘r& % ®1 H YT B

D ©% ya fFEdEa R @ 9ol § I &K ST, Th qd 9d 91 & 94 Jad
= @ﬂﬁéﬁ i é‘&%t@

Ow

é‘&ﬁié%%@@ aé‘&éﬁ BSREGR é—é}r% TH g4 gq 9 @l %
Ha YA @I, Uk Hd Th Hqd
%%qwﬁw@rﬁ@ra@rwwwaﬁﬁm

(A) %a@ B, C, D (B) waw A, B &R C

(C) waw Asit C (D) %b_chfB,CGﬁTD (E) ergara usd
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Q. 81-83 :

(A)
(B)
©
(D)
(E)

7 GET IT ON
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Each of these has a question followed by two statements I and II. Mark the answer as:
if the question can be answered with the help of statement I alone,
if the question can be answered with the help of statement II alone,
if both the statements I and II are needed to answer the question, and
if the question cannot be answered even with the help of both the statements.
Question not attempted

77 Gem 81/ 83 : T W UG W U % ugarq [ oM 11 &1 %o fiw 7w ¥ )| Iox % w0 o e Hifiu—

(A)
(B)
©
(D)
(E)

e U9 BT IAX Hhad HAT 1 B Ter@ar o 7 o b
T W9 BT IR had b 11 & geEa g @ o 9%
9T T IAT o & Y IS ®ee 1 ud 11 S1 & Sed & qon
AT HYA B FERA W AR YT HB IAX A @ IAh

TR U

81 A train started from Station A, developed engine trouble enroute, and reached Station B late by
40 minutes. What is the distance between stations A and B?

I The train developed engine trouble after it had travelled 40 km at a certain speed,
after which it slowed down to %t of its original speed.

I The train developed engine trouble after it had travelled 40 km in two hours, after
which it travelled on at just Yt of the speed at which it had moved thus far.

TF I WIH A ¥ W@HT g5, 99 UK H 39 | Teqs] UaT g3, JUT I8 W B WX 40 fFe @& <0 9
TEdl ®eH A ofR B & & @ g fohart &7

I ffyaa wifq ux 40 km g8 02 B & 919, 3 ® 399 %l TS UaT &5, 59 ugarq a8 otae
EESIECR NI IR & 1 S i

O I HEH40km & U T S & S8 37 | 99 DI TSIl UST g3, o9 q& & g0 oG
T | T DBl 3Dl Y4 T § T A BN 3@ qF T

82 What are the values of 3 integers a, b, and c?

| ab = 8
I bc =9
A quiichl a, b, ¢ & AF fRaT ¥ ?
| ab = 8
I bc =9

83 What are the ages of the three brothers?

I The product of their ages is 21.
I The sum of their ages is not divisible by 3.

& e Y oy e B 7

I STl omgstt & JoFed 21 ®
0 I omgstt & ar 3 8 favrea 78 %
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Q. 84-85 :

84

85

(A)
©
(E)

(A)
©
(E)
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Each of these questions contains six statements followed by four sets of combinations of
three. Choose the set in which the statements are logically related.

7o e 84-85 ¢ T W US W H B HUF Y MY ¥ I F A9 & FUeW & 9 F2 W SATET B

TG T B TG DN T HYS qllbmed d G |

Mary is John's wife.

Mary and John danced together.

Mary wears John's ring.

Husbands and wives danced the last waltz.
John loves Mary.

- o o o0 o o

John danced last with Mary.

S @ ufed 4 ¥

AU o & A TwEr 3| fea

4, S B SIS TH B

il oY uferal | oifew arew @1 s o
S A B AR HT 2

S A s W A % wY sy fha

adf B) abd
ace (D) aef
Question not attempted / SR AT

- o o O O o

Smoking causes_cancer.

All cigarettes are hazardous to health.
Smoking doesn't cause cancer sometimes.
One brand of cigarettes is cham--cham.
Brand X causes cancer.

Cham-cham is bad for health.

- o o o o o

guqH ¥ T B 5

afl R @ & g st 2
FH-HH AU T HEL 7ol Bl 2

e &t i a9-—am %)

s X § S| B ¥

T WA & g g )

abe (B) bdf
abd (D) abc
Question not attempted / STTART T

- o o 0 o o
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86  An 80-litre mixture contains milk and water in the ratio of 4. 1. The mixture measuring 40 litres
is removed and replaced with pure milk and the operation is repeated once more. At the end of
the two removals and replacements, what is the ratio of milk and water in the resultant mixture?
80 foTex % s fgor # 4: 1 oud ¥ 39 T UMl R $1 40 e A & freor @1 g1 w3 =

39 9 9a0 oA T SR ¥E Gihdn g Us A @l S ¢ 1 & 91§ a1 §&d % S8 o W, aieemHr
ot ¥ g4 ofiT UMl &1 U fepa & 7
(A) 19:2 B) 19: 1
(C) 20:1 (D) 21:2
(E) Question not attempted / STANT T

87 A can contains a mixture of two liquids A and B in the ratio of 12:9. When 14 ltrs. of mixture
is drawn off and the can is filled with B, the ratio of A and B becomes 4: 5. How many litres
of liquid A was there in the can initially?

T HH 12:9 % U H & %@ A F B @1 Frgor wu gen 71 5w 14 frex fagor Frer T @ e it
FT B B aY fan &1, A ik B &1 oud 4: 5 & orar §1 9 o geend ® fha e axa A an?
(A) 28 ltrs. (fTeX) (B) 32 ltrs. ()

(C) 34 ltrs. (fTex) (D) 36 ltrs. (fTeX)

(E) Question not attempted / STANT T

88 A person rowing at the rate of 7.5 kmph in still water takes 5 times as much time in going
35 km upstream as in going 35 km downstream. Find the speed of the stream.
g7.5ﬁ5¢ruﬁrd¢raﬁwﬁﬁ1€r@%wwwﬁﬁ3s km STy H SM AR TG &
www35kmﬁuﬁawﬁaﬁﬁﬁm%|waﬁwaﬁaﬁﬁw
(A) 5 kmph (feat ufa =) (B) 6 kmph (feet ufar =)
(C) 7 kmph (feet ufa =) (D) 8 kmph (fHT ufa =)
(E) Question not attempted / 3TN T

89 On selling a 437-litre capacity, frost-free, double door Refrigerator at 7.5% gain and a 1.5-ton
Split AC at 10% gain, a shopkeeper gains < 6,600 in all. But, if he sells the Refrigerator at 10%
gain and the Split AC at 8% loss, he gains ¥ 1,664 only. Find the total cost price of the
Refrigerator and the Split AC.

% 437 et BUHR a@ BIE-Wl, Sq@ ST ST @l 7.5% @9 U8 Uk 1.5 27 #1 fowe ud
@ 10% @9 IX 999 UX Th FHEER B FA L 6,600 & @1 a1 &1 AfhT e I8 Weeret & 10%
T 9 J e Tl ® 8% M UX AT B, G8 Fawd 2 1,664 FH AH U BT & | Wheiex T Rz
T 1 ol HH oA S DI |

(A) T 70,350 (B) T 72,540

(C) T 74350 (D). % 76,850

(E) Question not attempted / STANT T

90 The simple interest on a certain sum for 3 years at 5% per annum is T 67,500. What is the
compound interest on half the sum at double the rate of interest for the same time period?
ue iy gmafst ux 3 aut & fTw 5% wiqad & g § areer |9t < 67,500 3| SH guaEty & fae
Sl SO T A A 3 WX AHG(G AT [ B 7
(A) T 70,825 B) T 72,675
(C) T 74,475 (D) T 76,225
(E) Question not attempted / STANT T

91 'A' sells his goods 27.5% cheaper than 'B' and 25% costlier than 'C'. By how much percentage
are C's goods cheaper than A's goods?
'A' ST GME B' ¥ 27.5% @& a 'C' ¥ 25% wem J=an g1 'Cl w aeE Al % 9ME ¥ feaen wfasd

e &7
(A) 20% (B) 22.5%
(C) 25% (D) 27.5%

(E) Question not attempted / STTANT T
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Q. 92-95 : Refer to the following information and answer the questions that follow :

Four persons of different nationalities live in four adjoining houses facing a street. Each
of the houses is painted in a different colour. Each of the four persons takes a different
type of drink. The following information is also known:

» The Englishman lives in the red house.

The Italian drinks tea.

The Norwegian lives in the first house on the left.

The person in the second house from the right likes milk.

The Norwegian lives adjacent to the blue house.

The Spaniard drinks fruit juice.

Tea is the drink consumed in the blue house.

The white house is to the right of the red house.

A7 W 92 | 95 :  Frefafad gu w Had @by ST UeAl % I §

92

93

94

95

Tty Wi a9 R Feead 9 a0 § Tl &% 99E T©d © | T JX Bl S
T8 O T ¥ | AR ARl ¥ ¥ TdE S Gh B 9T @l § | e geen |/ 9 e
3T AR @ TT &6 X § &l 8

gl a9 U 5|

Trd AT a1 SR ¥ yom 'Y H @ 5|

Al T | TaC g # @ o Al §9 TS B B

qrd e | 5 % W@ ¥ s

WP Fe 5@ 9 2

R B H A B SUHET BT S |

%S UY, W O % IE ST 2

The colour of the Norwegian's house is

(A) yellow (B) white (C) blue (D) red
% Question not attempted

famt & s @ T8 -
(A) drm (B) W% (C) =i (D) @™
(E) orgaiaued
Milk is the drink consumed by the
(A) Norwegian (B) Englishman
(C) TItalian (D) None of the above
(E)  Question not attempted
TH YT 1 SYNMT fREH &0 B © 7
(A) - Tt (B) & =fer
(C) geett frrame (D) wulE W ¥ HE TE
(E) oraiaued
The Norwegian drinks
(A) milk (B) cocoa (C) tea (D) fruit juice
% Question not attempted

frramed dmm ® - NN
(A) 34 (B) € == (D) %z <@
(E) oraiausd
Which of the following statements is not true?
(A) Milk is drunk in the red house. (B) The Italian lives in the blue house.
(C) The Spaniard lives in a corner house. (D) The Italian lives next to the Spaniard.

(E) Question not attempted
e sl § o B9 o1 g T/ 8 7

(A) @ o H 39 9T S 2 (B) ol Frawh A = A war B
(C) FEE & I 76E | @l $ (D) 3o Frawh, A & T ¥ @ 3
(E) oraiaued
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Three boys Amar, Akbar and Anthony study in the same school. Every boy in that school either
fishes for trout or plays frisbee. All fishermen like snow while no frisbee player likes rain. Amar
dislikes whatever Akbar likes and likes whatever Akbar dislikes. Akbar likes rain and snow.
Anthony likes whatever the other two like. Who is a fisherman but not a frisbee player?

(A) Amar (B) Akbar
(C) Anthony (D) None
(E) Question not attempted

T Teh ST, FHAT ST TIAI T & &l # Ued ¢ | 39 G H TS @sHl a1 Al 282 & (Y {6
H & A1 Bl daar 31wl feai = @l wEe s € wats b A R Reardt il wee @

HIAT| ST Bl T8 ATIES & Sf SThaT I UHS & o1 9% U6 & I [h ST &l IGE T | STHIT Bl LA
g @I 96T T U B 9% UHE ¥ o f o 1 @l wde ¥ @ fherdds ¥ afes fre Raad T %7

(A) &R (B) &HIT
(C) dorh (D) % @ &
(E) orgaiaued
Match List I and List 11
List 1 List 1T
a Magpie tourist complex i Hodal
b Dabchick tourist complex i1 Faridabad
c Surkhab tourist complex i1 Panchkula
d Red Bishop tourist complex v Sirsa
o 1 iR g& 11 1 e S
T 1 T 11
a W I dHieaed i wed
b = zRw wE i sl
¢ gWE Nw Hirad i gl
d = R zfe s iv

Now choose the correct answer from the following:

= o ¥ 9 ST @ T @i

(A) a-L b-IL, c-1II, d-IV (B) a-L b-1, c-1V, d-11I
(C) a-IL b-IIL, c-1V, d-1 (D) a-IL b-1, c-II, d-IV
(E) Question not attempted / STTANT T
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Which of the following is not situated in Bhiwani city:

1 Gauri Shankar Mandir 2 Khaki Baba ka Mandir

3 Hira Puri Mandir 4 Baba Shami Dayal Mandir
Now choose the correct option from the following:
(A) 1 & 2 Only (B) 2 & 3 Only
(C) 3 & 4 Only (D) 4 only

(E) Question not attempted
e & | @ el e A oraRea TE B 7

1 Tirhsiet d@i 2 gl 9 @ i
3 Fu gl 4 9@ OE SEE AR
1 9 ¥ |98 IO @ 99 BT
(A) waa 1 8T 2 (B) %ad 2 8t 3
(C) %aw 3 8iix 4 (D) %ad 4
(E) g ued
Read the following statements about Pinjore:
I Pandava brothers visited this place during their exile.

I The place was also known as Panchpura, which later corrupted to Pinjore.
Il  Maharaja Amar Singh of Patiala bought Pinjore and adjoining areas from Sirmaur
rulers.
IV Pinjore is famous for the beautiful Shalimar Garden.
Which of the above statement is /are correct?
(A) L II & 111 only B) L II & IV only
(C) 1L III & IV only (D) I III & IV only
(E) Question not attempted
=ik & a= o = BuAt @ ged Hife
I uisd S9Nl 7 oue Fafed & 999 9 W @) A= & Al
0 39 ©E & 99ga 1 &l Sr o1, Siife a8 o a9 slh =i ger|
Il Gfedr & 9o sEie § =ik 9 e &= & [ & aEs 8 glarl
IV =R i e SEm & e aiig 2
STE Bl H A DA AU/ G 57

(A) aw 1, 11 &fix 111 (B) e« I, Il six IV

(C) e 1L, I & 1V (D) aw L I & 1V

(E) orgaiaued

Which of the following town/city derives its name from a Sanskrit word Frog?
(A) Rania (B) Ateli

(C) Kalayat (D) Charkhi Dadri

(E) Question not attempted
frafafaa & 9 fpe FE1/98T &1 TM @@d & Hed =% o foar ¥

(A) b (B) oreell
(C) e (D) @@l <l
(E) orgaiaued
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SPACE FOR ROUGH WORK / &= %™ % faq s
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Assistant District Attorney in Prosecution Department, Haryana
(Advt No 14/2023)
(Held on 30.07.2023)
Master Answer Key for filling Objections (By Candidates)

Q.No. Ans Key Q.No. Ans Key Q.No. Ans Key Q.No. Ans Key
1 D 26 B 51 C 76 D
2 B 27 D 52 C 77 C
3 A 28 D 53 B 78 B
4 D 29 B 54 A 79 A
5 B 30 C 55 D 80 C
6 B 31 C 56 D 81 B
7 D 32 A 57 C 82 C
8 C 33 B 58 B 83 D
9 D 34 C 59 B 84 A
10 C 35 B 60 B 85 B
11 B 36 B 61 B 86 B
12 C 37 C 62 C 87 D
13 C 38 A 63 A 88 A
14 D 39 B 64 A 89 D
15 D 40 D 65 C 90 C
16 D 41 D 66 A 91 A
17 A 42 D 67 C 92 A
18 B 43 C 68 A 93 B
19 A 44 D 69 D 94 B
20 C 45 C 70 C 95 D
21 D 46 A 71 B 96 B
22 B 47 A 72 D 97 B
23 D 48 D 73 A 98 D
24 B 49 B 74 A 99 A
25 B 50 B 75 D 100 D
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